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Introduction

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and
A Level Biology (9700), and to show how different levels of candidates’ performance relate to the subject’s
curriculum and assessment objectives.

In this booklet a range of candidate responses has been chosen as far as possible to exemplify grades A, C
and E. Each response is accompanied by a brief commentary explaining the strengths and weaknesses of
the answers.

For ease of reference the following format for each component has been adopted:

o
<
=)

P

Each question is followed by an extract of the mark scheme used by examiners. This, in turn, is followed by
examples of marked candidate responses, each with an examiner comment on performance. Comments are
given to indicate where and why marks were awarded, and how additional marks could have been obtained.
In this way, it is possible to understand what candidates have done to gain their marks and what they still
have to do to improve their grades.

Past papers, Principal Examiner Reports for Teachers and other teacher support materials are available on
http://teachers.cie.org.uk
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Assessment at a glance

Assessment at a glance

Paper Type of Paper Duration Weighting
AS Level A Level
1 Multiple Choice 1 hour 40 31% 15%
2 AS Structured Questions 1 hour 60 46% 23%
15 min
3 Advanced Practical Skills 2 hours 40 23% 12%
1/2
4 A2 Structured Questions 2 hours 100 38%
5 Planning, Analysis and 1 hour 30 12%
Evaluation 15 min

Teachers are reminded that a full syllabus is available on www.cie.org.uk
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Paper 2 — AS Structured Questions

Paper 2 — AS Structured Questions

Question 1(a)

1 Protein production involves a complex sequence of evants and a numbsar of call structuraes.

(@) The first column in Tabla 1.1 shows some of the events that occur in the production of a
protein in a cell and its eventual release from the cell.

Table 1.1
saquence | cell location
evanl of evanls (letlers)
(numbers)
exooylosis
protein modification
sacratory vesicle formation
lranscription
translation

() In Table 1.1, writa tha saquence in which the evanls ocour, using 1 as the first
process in the sequanca. [2]

(i) From the list A 1o F balow, choose one cell location for each event and wria the
lattar in Table 1.1. Each letter may be used once, more than once, or not at all.

Golgi apparalus

lysosame

nuclaus

rough endoplasmic raticulum

smooth endoplasmic reticulum

plasma (cell surface) mambranea [3]

mmoOms
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Mark scheme

Paper 2 — AS Structured Questions

1 (a) (i} transcription firsi process and exocyiosis final process ;

correct order for remaining three processes (3, 4, 2); [2]
accapt words and mistura of words and letters
(i)
Fi
A/'D
A,
C
D;
order of call lecation
e avants (lettar)
exocyloss 5 F cell membrane ;
protein modification 3 iig olgi and/or RER:
secretory vesicle formation 4 A Golgi ;
transcription 1 c nuclaus
translation 2 D RER ;
[5]
Example candidate response — grade A
sequence | cell location
avent of events (lattars)
(numbers)
exocylosis l:)i, -
A
protein modification b A
secretory vesicle formation "‘I'.I" A /
transcription 'i ‘/u/ &
£ /
i .
translation 1 V" D /
%
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Paper 2 — AS Structured Questions

Examiner comment — grade A

This candidate has shown a good understanding of the meaning of the various terms in the ‘event’ column
and has then applied this to work out the sequence of events that would occur. The terms were from
sections A (Cell Structure), D (Cell membranes and Transport) and G (Transport) of the syllabus. The correct
cell location of the different events shows a good knowledge of the functions of the various cell structures
(from section A of the syllabus). This candidate has been able to think sequentially about the whole process.

Example candidate response — grade C

sequence | cell location
event of events (letters)
(numbers)
exocytosis 0 1= /"'
protein modification % B,
secratory vesicle formation . N % X
transcription 1 C.
translation % ™ /
.- |
Bl 7

Examiner comment — grade C

This candidate has correctly worked out the sequence of events, demonstrating a good understanding of
the meaning of the terms, but has mistakenly thought that secretory vesicles were formed by the lysosome.

Knowledge of the various roles of the Golgi apparatus is only partial.

6 Cambridge International AS and A Level Biology 9700
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Paper 2 — AS Structured Questions

Example candidate response — grade E

sequence | cell location

avanl of evenis (letters)
{numbers)
axocylosis Y = f/x
L |
|
protain modification ’& E
secretory vesicle formation '('lf I:\ b
:;
ranscription "
’ 271 D

-—l \

translation

Examiner comment — grade E

This candidate is not clear about the difference between transcription and translation, which may also have
led to the incorrect identification of the cell structures in (ii). There are gaps in knowledge of the functions
of the various cell structures (syllabus section A), with the mark gained for the location of exocytosis, which
is a link to section D.
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Paper 2 — AS Structured Questions

Question 1(b)

{b) Describe the process of exocylosis,

Mark scheme

B} 1 wvesicle / vacuole, moves towards, cell, surface / membrana ;

A plasma membrane R if lysosome

2 fusion f described, of vesicle with membrane ; R attach / bind / combine

3  ref. to (fluid nature of) phospholipids ;

4 contents ! AW, sacreted [ releasad / exported / removed § emptied | excreted :
A waste material / digested matarial

o active process / energy-requiring / ATF used § AW ;
R 'active transport” R endocytosis

Example candidate response — grade A

e EAOCLYLOSIS. . I8..00...ENeLQ Y. LEQLILLL rﬂz‘){.-p:‘.m.m.i.ﬁ..:...]:t..ﬁ.ﬁ...

Seleckive.. and.active.. Dukng. exocytasis,  he material.

secredord
thak.needs. to. be. rermaneal. s Sueugel. by QL. VESICLE:...

ond.is. then. remevid. ouk.of. the. el with. bhe need. of.... (3]
L= I_'I.E'fg l.j "

Examiner comment — grade A

[max 3]

This candidate has gained maximum marks by giving three of the five available mark points. There are no
contradictory statements and a sequential account is clearly given. To have improved this response, the
candidate should have avoided the vague nature of the final part of the response, where it was not obvious

what was ‘removed out of the cell'.

Example candidate response — grade C

Secredary...vR8LCLaS... .. fouiandel... o, 11l alg . Appavauis:
Jnese...ve0les. o, qlso... bo...called... NSO, Qi Cxfa)

pmm;nm.,cf..ﬂuw SulnSznas.. .. taktin o4t af cell...
mem JAL. Ol UL, AR, . QL fUge....
Wh.._IE.. e a0, HAG... At QSIS AT Bl ........
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Paper 2 — AS Structured Questions

Examiner comment — grade C

This candidate has shown a good understanding of the process of exocytosis. However, knowledge of the
difference between secretory vesicles and lysosomes has not been demonstrated, by mistakenly thinking
that lysosomes move to the cell surface membrane, and so the third mark was not awarded.

Example candidate response — grade E

“A...Neel@.. treagh. Fhe. {:ﬂiﬂh....mpﬁnnii;.m Sernas....
... he mmﬂ*ﬁdmirﬁmm*‘hﬁw

to. e membmne. and secetes [ (

Examiner comment — grade E

The second paragraph of this response demonstrates some knowledge of the process of exocytosis. The
candidate knew that the vesicle moved, but needed to state which membrane was involved and hence did
not give sufficient detail. A mark was given, to the benefit of the candidate who used the term ‘unwanted’,
for the idea that waste material was released. The first paragraph contains no correct information, with
the candidate stating that material was secreted ‘out of the body’ instead of ‘out of the cell’. This mistake
probably would have been spotted and corrected by the candidate if they had checked their response.

Question 1(c)

(e) One example of prolein modification s the removal of the first amino acid, methionine,
from a newly formed polypeptide chain 1o make a functioning protein.

(I} The DMNA nuclectide sequence that specifies the amino acid methionine is TAC.

State the mBNA nucleotide sequence that is complementary to the DNA sequence
for methionine.

(il Suggest two other ways in which the polypeptide chain is modified to produce the
functioning protein.

e PAST PAPERS
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Paper 2 — AS Structured Questions

Mark scheme

(c) (i) AUG; [1]
(il) 1 secondary structure / a-helix / -(pleated) sheeat ;

2 tartiary structura [ description / folding / complex 3D shapa ;

3 formation of named bond{z) ; R if peptide bond in list

4 quaternary structure / description (e.g. assembly of polypeptides) ;

9 ghycosylation / formation of ghycoproteins [ addition of carbohydrate(s) or sugar(s) ;
R hydrocarbon chain

6 addition of, non-protein portion(s) / prostheatic group(s) / namad example ;
A haem {iron { Fa / copper { Cu / magneasium / Mg / AW

7 rmamoval of somea amino acids ; R one amino acid

8 polypeptide(s) cut into two or more pieces ;

8 AVP; egq.rel toexposure to water molecules and folding
R ref. to amino acids coded for by stop codons [max 2]

Example candidate response — grade A

(i) The DNA nuclectide sequence that specifies the amino acid methionine is TAC.

State the mRNA nucleotide sequence that is complemeantary to the DNA seguence

for methionine.

{il) Suggest two other ways in which the polypeptide chain is modified to produce the
functioning protein.

Torkion . Stadhues.....of.. e Yeshean, ST

Examiner comment — grade A

In (i) the candidate has correctly applied knowledge of the complementary base pairing rules and has
remembered that thymine is replaced with uracil in RNA nucleotides. In (ii), the candidate has used arrows
to indicate the two different suggestions. Each of these suggests an acceptable modification to the
transcribed polypeptide chain that would enable function. The first suggestion comes from the candidate'’s
knowledge of levels of protein structure. The second suggestion could have come from knowledge of
glycoproteins that occur as components of the cell surface membrane.

e PAST PAPERS
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Paper 2 — AS Structured Questions

Example candidate response — grade C
(i) The DNA nucleotide sequence that specifies the amino acid methionina Is TAC.

State the mRNA nucleotide sequence that is complementary to the DNA sequence
for methionine. {

(I} Suggest tweo other ways in which the polypeptide chain is modified to produce the
functioning protain.

RELEINEY o000 REO0N0. SN

AR, (DR, mm&aﬁm&‘“&m LML
Haodeed to . Qoghidla. m Sharkainadi...... |

m Mﬁw m%mm ............. 2

ﬁmmmm T - otal: 11] |
R IR hﬂ.\m VBN eand Wea Lot ge, BB ol :
DL oMo, On Grvans sid R W et

"Hﬂt\t‘.'.-i&a_.‘ LT

Examiner comment — grade C

In (i), the candidate shows knowledge and understanding of base-pairing during transcription. A good start
has been made in (ii) to gain a mark, but this is followed by the suggestion (given in the next two sentences
that follow) that the chain is shortened, which does not correspond to the idea of a functioning protein. The
remaining information does not answer the question. Note that even if there is a correct suggestion within
this additional information, no credit can be given as the first two suggestions only will be marked.

Example candidate response — grade E

(e) One axample of protein modification is the remaval of tha Tirst amina acid, methionine,
from & newly formed polypeptide chain 1o make a functioning protein.

(i} Tha DNA nucleotide sequence that specifies the amino ackd methioning is TAC,

State the mRMA nuclectide s;quance that is complementary io the DNA sequence
for methionine. / . .
e
F" L,lq-' L _r"'-. ; l

(i) Suggest tbwo other ways in which the palypeplide chain s madified to preduce the
functioning prodain.

. Diwing _semi -conservotive veplicoion, Ekntr.:q..ﬁ...%ngma;
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Paper 2 — AS Structured Questions

Examiner comment — grade E

This candidate has correctly applied knowledge from section F (Genetic Control) of the syllabus to give the
correct codon for methionine. The candidate has not understood what was required for (ii) or may have not
fully read the question, which wanted suggestions for modification to produce the functioning protein. Here
the candidate answers from the point of view of mutation and gains no marks.

S PAST PAPERS
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Paper 2 — AS Structured Questions

Question 2(a)

2 Malaria 1s an infectious disease that is considered by the World Health Organization to be a
disease of worldwide importance.

(a) Explain what &5 meant by the term infactious.

Mark scheme

2 (a) communicable / transmissible / contagious ! transfarable / AW ;
A passed from one (infected), host / crganism / one parson, to anuther
A ‘passad on’

causad by, a pathogen ! microorganism / af leas! two named types of pathogen ;

A virus, bacterum, fungus, protoctist, worm ;

R parasite unqualified by two types [miax 2]
Example candidate response — grade A

{(a) Explain what is meant by the term infectious.

' N o 1T o
oL RlanaimaLt.

ALl SO AS L O LG Rl AR
..mhlE....f.rﬂm....m..m...;nFEﬂ:ﬁfd.pﬂ.ﬁmm.,m,..,-;;u:t..I&Eiﬁg:t:he.fﬂ-_....

Fat
A PEES QI v s s 2]

Examiner comment — grade A

This candidate has an excellent understanding of the term infectious, including knowledge of pathogens and
qualifying the terms communicable and transmissible to be assured of maximum marks.
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Paper 2 — AS Structured Questions

Example candidate response — grade C

(a) Explain what is meant by the term infectious.

11111111111111111111111111111111 CLEERR RN reee it FEE PR R R A PR R R RS AT PR PR F R R AR A T F R R T ['E]

Examiner comment — grade C

This candidate uses the correct scientific terminology and shows a good understanding of the term
infectious.

Example candidate response — grade E

{a) Explain what is mean! by the term infectious.

Examiner comment — grade E

The candidate gained one mark for understanding and explaining that infectious diseases are transmissible.
To gain the additional mark, knowledge of pathogens was expected.
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Paper 2 — AS Structured Questions

Question 2(b)

{(b) Mame one species of organism that causes malaria.

Mark scheme

(b} Plasmodium, falciparum f ovale 7 vivax / malarae |
A phonetic spellings for specific name, A plasmodium
R if specific name first, 1)

Example candidate response — grade A

Examiner comment — grade A

The candidate has given a species name, correctly spelt and with an upper case for the first letter of the
generic name and a lower case first letter for the epithet. As the candidate has used their normal handwriting,
they have underlined the species name (usually seen in print in italics).

Example candidate response — grade C

”\."{Vﬂ’f [1]

IR fee  Plasmodum, Ve 8

Examiner comment — grade C

The candidate has given a species name, correctly spelt, the right way round, and with an upper case for the
first letter of the generic name. To improve, the specific epithet should have had a lower case first letter rather
than upper case. Any one of the four species of Plasmodium could have been given, so Plasmodium malariae,
which the candidate crossed out, would also have been acceptable.

Example candidate response — grade E

Examiner comment — grade E

The candidate has correctly avoided naming the vector of the parasite, Anopheles, which is a common mistake,
but has not answered the question fully as only the genus name for the causative organism has been given, and
so no mark awarded.
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Paper 2 — AS Structured Questions

16

Question 2(c)

(e} Explain the significance of the following statements in the control of malaria.

(i)

(i)

(i}

The female Ancpheles mosquilo has been more closely studied with regard to
malaria than the male Anophefes mosquito,

||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

The infective stages of the malarial organism are present in anti-coagulant produced
by the mosquito.

After circulating in the blood for a short time, the pathogen enters liver cells of the
newly infected person and then enters red blood cells,

||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
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Paper 2 — AS Structured Questions

Mark scheme

(e} (i) (only)female feeds on blood / make does not fead on blood ;
female raquires blood (protain) for (development of} eggs ;
{only) female camies, pathogen ! disease-causing crganism ! Plasmodium ! parasite ;
A {only) female transmits the disease
{only) famale is vactor ; ora fgnore female carries, the diseasae / malaria [max 1]

{ii) anti-coagulant (in saliva) is passed when mosquito, sucks blood /| Teeds | bites / takes a

blood meal ;
anti-coagulant prevents blood clotting when mosquito, sucks blood |/ feeds / bites | takes
a blood meal : [max 1]

(iii) in marking accept
Plazsmodium | pathogen / causative organism /[ malarial organism where parasite is given
below

short fime (in blood plasma)
for exposure to cells of the immune systam § AW ;

naxt stage{s) of life cycle insida calls ;
A sporozoites into merozoites in liver
merozoites into schizonts in red blood cells

parasite gains, food / energy, from cells ;
parasite, reproduces | mulliples, inside (liver / red blood) cealls ;
damage to / bursting of ! Iysis of [ impaired function of, calls ;

(antimalarial} drugs cannot panatrate (liver [ red blood) cells ;
parasite, concaaled / ‘hides”, from host immune system ;
A antigen concealment ;

no symploms, until parasite leavaes caells / whila parasite is in calls ;
idea that people incubating disease are symptomless ;

A sympltomlass carriars
idea that treatment unlikely to prevent spread from infected person ;

AVP ; examples
different stages provide problems with drug [ vaccine developmeant
AVP ; mode of action of potential drugs — block attachment sites on cells
parasite in blood cells allows testing by taking blood samplas
further development of any idea given above [max 2]
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Paper 2 — AS Structured Questions

Example candidate response — grade A
{c) Explain the significance of the following statements in the contrel of malaria,

()

(i}

(i)

The female Anopheles mosguito has been more closely studied with regard fo
malaria than the male Anophales mosquito.
-"" Fﬁ_

- [1]

Tha infective stages of the malarial organism are present in anfi-coagulant producad
by the mosguito. g

Chothuney . iakea... Mt paesquake. . sindbe Vhlawh....... (1]
50 et o we posses tnh e blem.

After ciroulating in blood for a short timea, the pathogen enters liver cells of the

newly Infactad parson and then enters red blood cells.

Examiner comment — grade A

The candidate gave a considered response for part (c), skilfully relating the statements given to the mode
of transmission of malaria in (i) and (ii), and problems with control of the disease in (iii). This response used
the correct scientific terminology and explained well the significance of each statement, providing good
evidence of knowledge of the transmission cycle of the disease.

R
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Paper 2 — AS Structured Questions

Example candidate response — grade C

{c) Explain the significance of the following statements in the contrel of malaria.

(i} The female Anopheles mosquilo has bean more closely studied with rd to
malaria than the FI'1~H|'=E Amplm!ﬂinmq.litu

- [1]

(i} Theinfective stages of the malarial crganism are presant in anti-coagulant produced
by the mosguito,

%mm&ngﬂwqb_& {.me. . He..

e ﬁﬂ% 7100, :sz.,'iﬁaji.’&ﬂ;:mf g, bl
ﬁ; (TN} P :] ﬁ‘ I‘rnﬂ!.i-rf_-l. fp
(i} After circulating in the blood for & short tima, the pathuqan enters liver calls of the
nwly infected person and then enters red blood cells,

L. the. Liiao.cells. Aa:ékc«éﬁ:ﬁ. ﬁ«dap,a.;aﬁ.
M. pgem.m&a«m .Haﬂ f,mc:ﬁf plage k...
Herce dop a3 ks Qs;f bllaced elds, cukera. Ao
Find, e kom oo sed...... 123

Examiner comment — grade C

The intention of the question has been understood and well-attempted by the candidate, especially with a
clear response in (iii). The response given in (i), by noting "...her eggs’ did confirm understanding, but could
have been improved with a comparative sentence to make it clear that only the female Anopheles mosquito
was involved in the disease. In (ii), the candidate made a good start to the response, but did not link back to
the anticoagulant and transmission to the uninfected person.
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Paper 2 — AS Structured Questions

Example candidate response — grade E
{c) Explain the significance of the following statements in the control of malaria.

(i} The female Anopheles mosquito has been more closely studied wnh regard to
malaria than the male Anophales mosguito,

e feralas. Ore, ke oney Tax a
S oe. e wain. Guest & molodo | nce Wew  Siadied:
(i} Theinfective stages of the malarial organism are present in anti-coagulant produced
by III'I‘-:E- masguito, :'f":"'
mﬁ““@&qtﬂhfﬁ viggedes, e oot . Lohdain, SNoWE. ..t
g, plawraliven. Pollogen, Mty 15 082 1. e Vit -] ﬁﬁiﬁ":‘fy{u | f |

(il After circulating in the blood for a short time, the pathogen enters liver cells af the
newly infected persen and then enters red blood cells,

................................................................................................................... L L'

Examiner comment — grade E

Part (iii), which does require more thought and is a challenging question for candidates at the grade E
standard, has not been attempted by this candidate. This may have been a good strategic decision if the
candidate realised that too much time might be taken up trying to work out what was required as an answer.
However, the candidate clearly had a good overview of aspects of the disease and mode of transmission
and if a few factual points had been given, one of the many available mark points may well have been
highlighted.
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Paper 2 — AS Structured Questions

Question 2(d)

(d) Discuss the factors that determine the distribution of malaria worldwide, (4]

Mark scheme

(d} if virus / bacterium / disease used instead mark to max 3
in marking accept
Plasmodium | pathogen / causative organism ( malarial organism where parasife ls given
balow

distribufion described for ong mark

either

{mainly in) tropics / between the tropics

or

any two named, areas and/or countries, affactad ;
&.g. areas (sub-Saharan) Africa, Central America, South America, South Asia, Central
Asia, Middle East, Caribbean
e.g. countries India, Sr Lanka, China, Vietnam, Cambodia, Brazil, Kenya

discussion to max four

1 (areas whera) both parasite, and, vector / mosquito / Anopheles, are present ;

2 Anopheles / mosquito / vector, survives / breeds / lives, in, hot and humid areas /| moist
tropical areas ; ora A standing / stagnant, water

3 parasite, needs to reproduce within the mosquito (at temperatures above 20°C) ;

4 eradicated in some countries [any a.g. (USA, ltaly) ;

tn

ref to LEDCs and, poor / non-existent, control programmes ;
A poor health facilities ! poor drug supplies / AW

maosquitoas resistant to, DDT / insecticides / pesticides ;
parasite resistant to, chloroguine ! drugs ;

link between human population density and Anopheles ;
&.9. human activity provides (lots of) breeding sites for Anopheles

occurs where named high risk group(s) exist ;
a.g. refugeas, HIV-positive pregnant women (more likely to pass HIV to unbom
childran), {young) children

10 ({outside fropics) disease spread by, travellars [ tourists | migrants | refugeas ;

w o =] &

11 AVP
most cases | over 80% cases, in (sub-Saharan) Africa
not, at high altitude ! in deserts
diffarent spacies of Plasmodium differ in geographical distribution / AW
misdiagnosis (30 not reportad)
changing pattern linked to, global waming ! changes in land use ! deforestation /
irrigation  other relevant named
R refarences to sickle cell [max 4]
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Paper 2 — AS Structured Questions

Example candidate response — grade A

(d) Discuss the factors that determine the distribution of malaria worldwigé, For

.Lf* e MH _— Hr‘-g, mJl \WR L

Examiner comment — grade A

The candidate has organised their response so that it is easy to identify relevant mark points. The response
begins by pointing out the regions affected most by malaria and explaining why this is so. There is no
confusion between Anopheles, the vector, and Plasmodium, the causative organism. Reasons as to why
some areas have a higher incidence of the disease are also discussed. The candidate has been able to gain

maximum marks within the lines provided.
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Paper 2 — AS Structured Questions

Example candidate response — grade C

(d) Discuss the factors that determine the distribution of malaria worldwide.

AN e ood. Sesstad, ooin st \Lm%"m% .......... ™
i< mm AS 0. W DOSANEAN..

. Wmmm LN, m.ﬁa.ﬂ,wh %\Mﬂn (4]

%_u\\(_ O@. Aroeddnon , Ve Total: 11]
Contaddehasd v Jog broarn ond. dne W50, WM"
Prasa e tuo Wehd wide Mot o . MMLS\,EDM&:M _
Wis Aasna e Wrasyiehiodpa it pauoside st |7
ﬂt‘mm"ﬁ-\%’s thiopraiioom NeSo- f\ |\

Examiner comment — grade C

This candidate has begun well, answering directly the question about factors determining distribution of

the disease and after stating ‘Mosquitos are resistant to antimalarial drugs..’, they have gained three out of
the four marks. There are no mistakes within these points and appropriate scientific terminology, including
organism names, has been used. The response then switches emphasis and discusses problems with the
control of malaria, which was not required. The candidate has quite small writing and does not need to fill all
the lines given, let alone extend beyond the printed lines. The final sentence may have been worthy of the
final mark point if it had been qualified further.
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Paper 2 — AS Structured Questions

Example candidate response — grade E

(d) Discuss the factors that determine the distribution of malana worldwide :T..'r‘ For
.. Malacia. is..mestly. found. 0. the. upplcs where...... e
the.summer..is..hot...and..where. the. Envisonmental........
dimate. 8. susiain.iks. development.. The..comnkiies. ........
Angected. by..malario..are. the. poof..countiies. like... Aprim,
Latin. Ameria..and..Asia. whete. thee. is.. liktle. of..no. pest.:. |
feun.conkenl:. These..countuies. gannok..apmid.. buging....
expensive..canti.malaral. - annek.. provide. heir........
Lkzens..wikh.. bed. nets., mosquito.repellents. insecticides
n.nr;i...ﬂ:nt...da..mh..eamﬂunte...Etugnmn!;...-..una':ﬁr_;& ________________ . Ml 2

Examiner comment — grade E

The candidate has outline knowledge of the disease and has gained two marks for a general statement of
the distribution of the disease and a relevant reference to LEDCs (less economically developed countries).

It is not clear whether the candidate understands the relationship between the mosquito, the parasite and
reasons for their particular global distribution.

e PAST PAPERS
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Question 3(a)
3 (a) Enzymes are globular proleins thal calalyse metabolic reactions.

Describe the features of globular proteins. 3]

Mark scheme

3 (a) spherical / ball-shaped / AW ; A round{ed) / circular
has tertiary structure ; R 3D
hydrophilic f polar, (R) groupis), on outside ! face fo watery exterior ;
hydrophobic { non-polar, (R) group(s), in centre ;
watar solubla ; [ax 3]

Example candidate response — grade A

Glomaar.. prmns... haye. 4...spkhen ol <af .. with..4.....
..ﬂmw..ﬁim..-..iim;...mm..m....

LY

w [3]

Examiner comment — grade A

The candidate has produced a confident answer, giving four mark points for a maximum of three marks
and only needing to use four lines. The use of the scientific terms ‘spherical’, ‘tertiary’, "hydrophilic’ and
'R-groups’ is in the correct context and is evidence of good understanding of the meaning of the term
‘globular’ in relation to proteins.

Example candidate response — grade C

o

Examiner comment — grade C

This candidate has not had difficulty in deciding what was required in the response and has written quite a
lot in order to gain two marks. The overall approximate shape of the protein could easily have been included

to give the third mark. This account could have been more concise and should | e PAS"I' BAPERS
appropriate to proteins, that is, tertiary structure, rather than ‘3D structure’. \ / INSIDE
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Example candidate response — grade E

Cilelaular ,mn‘n’ﬁ.ﬂ.&...,Haum‘l.j.,..hmhe,,..ﬁ...'.%ﬁﬁiﬂ’é,.e&m?mmﬁnn ______________

wits,. ool an.. s halin 4. oo Bople_shope, 395, then gives......

=iche Qaoing

Examiner comment — grade E

The candidate has gained one of the available three marks for an acceptable alternative description of
tertiary structure. There is an attempt to give a general account of protein structure: there is some confusion
between secondary and tertiary protein organisation, but in any case this area was not being assessed.

An understanding of the difference between globular and fibrous proteins would have helped to give a full

account of the features of globular proteins.

e PAST PAPERS
INSIDE
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Question 3(b)

(b) Enzymes can be used to remove cell walls from plant and fungal cells. The cells are
incubated in a solution that contains a mixture of enzymes,

{i) Suggest an explanation for the fact that a different mixture of enzymes is required
to remove the walls of plant cells compared to the walls of fungal cells. i2]

(ii) Explain why, when plant cells are incubated with enzymes 1o remowve their call walls,
it is important to maintain an optimum pH. [3]

Mark scheme

(b} (i} idea that plant call walls and fungal cell walls have different compaonenis
fungal cell walls made of, glucans / chitins / fungal cellulose [ different components to
plant call walls ; A paptidoghycan ! murain
A plant cell walls contain cellulose, but fungi do not
idea of specificily in context of question
ENZYyMEes ara specific ;
A specificity explained e.g. both substrates not complementary / shape of active site
spacific to one substrate [2]
(i) (at optimum pH) maximum { peak, activity ; A most efficient / works best
above | balow, optimum, activity declines ;
A description / graph sketched with pH and rate / acivity
changing pH changes hydrogen ion concentration ;
hydrogen / lonic, bonds (between amino acids), break / disrupled ;
hydrogen [ ionic, bonds, important in maintaining shape of, tertiary structure / active
site ;
R 4 and 5 if refer to disulfide, hydrophobic interactions, paplide
at sub-opfimum pH
6 active site /lertiary, shape altered ; A enzyme denatured
7 charges at the active site may be affected ;
8 further detail ; e.g. transfer of alactrons may not be possibla
9
1

Bl ik

B B B3

the substrate may be altered by pH changes ; R cell wall unqualified
(tharafora) substrata no longer fits / ES complaxes not formed ; [max 3]

e PAST PAPERS
INSIDE
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28

Example candidate response — grade A

(i} Suggest an explanation for the fact that a different mixture of enzymes is required
to rermove the walls of plant cells compared to the walls of fungal calls.

(i) E:-:!Enlaa.ln wiy, when plant cells are incuba s 10 u;%

it is important to maintain an optimum pH. [

¥oikner ' e dod o Yoo o, Cos ety H‘h&lﬁﬁ.“ ardl Wm -
‘nRssani. hﬁ-}bm Wil oh Temasisn e Swudere /,/

Examiner comment — grade A

For this theoretical practical situation, the candidate has skilfully applied knowledge and understanding of
different sections of the syllabus, in particular section C (enzymes) to gain maximum marks. In (i), from an
understanding that enzymes are specific in nature, the candidate was able to deduce that fungal and plant
cell walls must be composed of different substances, if different mixtures of enzymes are used for their
digestion. As this was a ‘suggest’ question and candidates were not required to know the chemical nature
of the fungal cell wall, the correct idea was not negated by the suggestion that the fungal wall is composed
of murein. This substance is the only other one within the confines of the syllabus that is different to the
plant cellulose cell wall, so it was a sensible suggestion from the candidate. In (ii) the candidate gives a
fluent, factual account of the importance of maintaining an optimum pH for enzyme action, and has covered
more than enough points to gain the available marks.

]e PAST PAPERS
INSIDE
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Example candidate response — grade C

(i) Suggest an explanation for the fact that a different mixture of enzymes is required
to remove the walls of plant cells compared to the walls of fungal cells.

_.Eﬂlymf.ﬂ....ﬂ.m...ﬁp.ﬂﬂ FAC..AN... an:. Hente.enzyme..........

concerned.. with.the..cligeskion..op. celulese..mill.....
not..act..on.ony..ethel. .substtawe. as. thalt.ackive.

SILE..15..only. SPeciFlt. . fol.one. Sukskicte.. oDy Thus..

mepxt. cigperenkt. mixtule. e of .enzymes. will. herequi- (2]
et -

(i) Explain why, when plant cells are incubated with enzymes lo remove their cell walls, |
it is important to maintain an optimum pH. :

Jhis. .. becouse. enzyme..ackiviky.. 5.afpected. by....
pH.... Eatrepneg...prl...esulte i the 1. i00g. ...

interacking. ik fhe... . @roups. . of . ERE.... .
RS, AISTupLing . the . stouckure. Of. .

1-.:|me.-....'IEﬁ:....5hc:pe...mr..,.t\:ﬂ,,.mﬁhl.u.e.,ﬂtﬂ..,..!'.5:‘..... (
no. lo¥ger Hie. same..and.enzymes. Qre. ...

Adenakia df/ﬂ»

Examiner comment — grade C

On reading the response it seems evident that the candidate appears to have a good knowledge and
understanding of the topic areas covered by this question, and has not made any errors. However, in (i)
the candidate has made the mistake of not qualifying the initial statement by stating some basic points:
that plant cell walls are made of cellulose and that this means that fungal cell walls must be composed of a
different substance. In (ii), the same style has been used: more detail would have resulted in more marks.
Considerable thought and planning is required for both (i) and (ii) before giving a written response.

e PAST PAPERS
INSIDE
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Example candidate response — grade E

(i) Suggest an explanation for the fact that a different mixture of enzymes is required
to remove the walls of plant cells compared to the walls of fungal cells.

proba
..E?]um,..mu..nu:llls.--ﬂm...mﬂd.ﬂ-.ﬁ{...miimcm_.ﬂrfﬂﬁgt-,lza; ......... .
TAUTHOIS. ... f:i‘.’m.'...!lllﬂ..Sl&u.ﬂlﬁm&...w..ﬂﬂmm.*ﬂﬂﬂl.

.mnmi,,,mbﬂﬂ...mmm....1&3.!4(&-..9:&1&..{1:}:%..&-&."@111

(i) Explain why, when plant cells are incubated with enzymes to remaove their cell walis,
it is important to maintain an optimum pH.

mwmv ““‘*‘%Jm% Pﬂw |

- [9]

Examiner comment — grade E

This response is an attempt to answer the question: ‘Suggest an explanation for the fact that a mixture of
enzymes is required to remove the walls of plant cells’. It is important to read through each question twice

before answering.

For (ii) this candidate gained the introductory mark for knowledge of the term optimum and did not
attempt to give more detailed information about the effect on enzymes above or below the optimum. More
knowledge of the details regarding the effect of pH on enzyme action was required.

e PAST PAPERS
INSIDE
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Question 3(c)

(e) A student carmed out an investigation into osmosis using red blood cells.

Red blood cells were placed in sodium chloride (salt) solutions at five different
concantrations. For each concantration, a sample was added immediately to a
microscopea slide and the cells were viewed using a light microscope for a period of time.
The obsarvations recorded are shown in Table 3.1.

Table 3.1
concentration of salt obsarvation of red blood calls
solution /%%

0.0 swell and burst, numbers decrease
0.4 increase in size

0.2 ramain the same size

1.5 decrease in size

3.0 smaller and shrivelled

Explain, in terms of water potential and asmosis, the results that the student obtained.  [4]

Mark scheme

lc] oamosis, defined in terms of water potential ! used in cormect context ;
0% and / or 0.4%

higher / less negative, water potential outside so water enters ;
0%, higher / less negative, watar potential than 0.4%, so cells burst ; ora

0.9%

aqual f same, water potential inside and outside cells, water in = watar out ;
A no net movement of water / ref. to isotonic / no water potential gradient
R 'no esmosis’ / no movement of water

1.5% and /or 3.0%
lower / more negative, water potential outside so water moves out ;

3.0%, lower / more nagative, water potential than 1.5% s0 cells, amaller | AW ; [miax 4]

Q PAST PAPERS
INSIDE
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Example candidate response — grade A
Q% - woker maoved ke O BRCo \bﬂﬁ{ﬂﬂhﬁ&ﬂﬂ.ﬂ. |
high. b o "-tm thfikﬂr Mﬂf;a Fhecobha. 3&%@?
04 % wmf mmm L&mm Mgk ......

1-“'}‘ 'E'“E"'-}‘ 1"“- ........ A 2 S RRVEY 5’*&“*"- wsand oo :h_; ..,
O Ok,
04Tz Ll-;—rﬂkrm Gder | w wp o (mde ad ek,
182370 Wk mavd ok b mmans 0 fha @l ot
Smalor, Whaber o arsTe e s b cdode v b shbie

Examiner comment — grade A

The candidate has consistently used the correct terminology, as instructed, throughout their re

HLC

sponse and

has compared the differences in water potential inside and outside of the red blood cells in order to explain
the movement of water. There is a clear structure to the answer, with each result being fully explained
and comparisons made between 0% and 0.4% and between 1.5% and 3.0% salt solutions. To save time

the candidate has used ‘w.p." for water potential and has indicated this in the first sentence, w

hich is

acceptable. '/RBCs’ for red blood cells was also acceptable in this instance as the candidate was clear as to

the direction of movement into or out of ‘cells’.

=
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Paper 2 — AS Structured Questions

Example candidate response — grade C

ok 0L e phe pono fom b Mg gl

Examiner comment — grade C

The movement of water should be described in terms of water potential: the candidate did use the term
correctly, but did not use the term osmosis, as instructed. Clear comparative statements concerning the

water potentials inside and outside the red blood cells were given and each was followed up with an
explanation of how this would affect water movement.

Example candidate response — grade E

Xﬁﬂw,mmwmhmﬂ;@m .
. 2 . |

%mdmm&ﬂh .....

e PAST PAPERS
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Examiner comment — grade E

Although the term ‘water potential’ was used in the response, the term ‘osmosis’ was not used, and a
relatively easy mark was lost. Apart from the 0% salt concentration, the candidate did not refer specifically
to the other concentrations and gave a general explanation which would only link to the 1.5 and 3.0% salt

concentrations.

Question 3(d)

(d) The student also cared out a similar investigation using plant cells with cell walls
removed. These cells were suspended in a 12% mannital solution so that the water
potential inside and outside of the cells was equal.

Fig. 3.1 is a photomicrograph of these cells,

Fig. 3.1

The student remaoved a sample of thesa cells. The sample was placed into distilled water
and was viewed using a light microscope.

Describe what vou would expect the student 10 observe and explain why this would not
ooour with normal plant cells. 2]

Mark scheme

{d) cells, increase in size | burst ; A vacuole increases in size R bacomes turgid

no call wall to, prevent call bursting / withstand (turgor) pressure ;
A idea that cell membrane alona cannot withstand increasa in size / bursting [2]

e PAST PAPERS
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Example candidate response — grade A

— W " -
e celly  woutd mcease v, size  opd ook

deceasing vy oumbers: Tais weold Kok eccor

Y normal plank cells beaose dheu  have | cellioglls
rosonk , swhich...ave hase \ngn. fencile” toy
v Provent  the il poes ko 1

Examiner comment — grade A

This response is clear and to the point. A good explanation follows a correct description of what would be

observed.

Example candidate response — grade C

.',fq pfm.i'— L2k o Lizodl. 4, Bl 3e. S4. ..cuazﬁ::.(m ......
oD bfyt exek osmosd pa He. ook cclh Rerdu....
{Ht:.{ 4ydle. Al by i o000 el bl emd....

iﬁﬂdﬁﬁéﬂfﬁ! ﬂmmimfmiﬁdi 2 |

Examiner comment — grade C

The candidate has gained the two marks allocated for the question but has wasted some time explaining
why the cells would increase in size, which was not required. The incorrect spelling of ‘burst’ has been
noted but has not negated the mark. The spelling mistake may have been spotted if the candidate had

checked through their answer.

Example candidate response — grade E

= mfiﬁ*ﬂ‘:uﬂhwﬂdﬁm%m ...... ﬂt\iﬁ (2]
bovesse W size \eecome The oot pofreaiion oy Pl = Munc...-lhl_ <
oot 1“ I.I'-.'l'u;i- -ﬂ-ﬂd_._ a:l;u g LW th.ﬂ-k‘ ﬂ..l;_:_fﬂl::i:“t '|.'I"l. L1228 lTﬂtﬂ' ]
berams Solide i bﬁ*‘"ﬁ T-E‘Fi'tl:.k.ﬂ_qt\ 'I.,g.lj Copedu W e yocuale

B tag 'fﬂl'ﬁ?"rﬁﬂl"ﬂ 6 oy C(one woifh slute Ao ok € VN Call sl e

e PAST PAPERS
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Examiner comment — grade E

The candidate has realised that the cells observed would increase in size. The exceedingly long second
sentence is confused. The candidate has wasted time with such a long response and should have noted
that a two mark allocation would not require eight lines of writing. A simple follow-up sentence noting that
a normal plant cell has a cell wall to prevent lysis, or bursting, would have sufficed.

@ PAST PAPERS
INSIDE
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Question 4(a)

4 Fig. 4.1 is an incomplete flow chart showing some of the events of the primary immune
response thal ocour after a person has been given a vaccine,

' dead pathogen in |

phagocytosis by

o

cell presenting llh

‘ activation. then cell division by ‘

produce and relsase antibodies \mﬂem cytokines

Fig. 4.1

(a) Choose the corract larm from the list balow to complete Fg. 4.1.

lymphocytes antigens mitosis vaccine

T, -lymphocytes plasma cells macrophages [3]

Q PAST PAPERS
INSIDE
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Mark scheme
4 |(a)

vacaine
macrophages } '
antigens lymphocytes }

mitasis

plasma cells and Ti-lymphocytas ;
&)

ne ect from (a) to (h)

e PAST PAPERS
INSIDE
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Example candidate response — grade A/ C

dead pathogen in
~AALCIOE........

cell presanting \\
NGBS e | o TNGOGNRR N Biichig by spacii
on it surface |
.Plasma..cels........ l Thrlymphefytes.
produce and release antibodies r secrate cyltokin
> )
Fig. 4.1 -
(a) Choose the correct term from the list below to complete Fig. 4.1,
lyrmpl'nl,ﬁcytm antliﬁann rntlu?{l w/ﬂne

E 1

T.-rymy:é:-.ﬁn p!am?'bﬂls macrgphages BT

Examiner comment — grade A/ C

This is a straightforward task for those candidates who have learned this area of the syllabus and who can
think in a sequential manner. Grade A-C candidates should be able to gain maximum marks.

This candidate has correctly completed the flow chart and all spellings are correctly transferred from the list.
The words have been crossed out, suggesting that the candidate has taken a methodical approach to the

e PAST PAPERS
INSIDE
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Example candidate response — grade E

dead pathogen in ‘
\

|
cell presanting | I'h
recognition and bindin specific
P'Eﬂr‘n_ﬂﬂ“i-_ andhodiey aby ]]
on its surtace kg, Tl

activalion, then cell division by

L WIS | .meemahaeet. lyonpnes 5&1 ]
praduca and relca‘g: antll:l-::ldles ’- sacrete cytokines N

LiF

Fig. 4.1
(8) Choosa the correct term from the list below to complete Fig. 4.1,

lymphocytes antigens mitpsis vagtine

Tylymphocytes  plasmacells  macrgbhages (3]

Examiner comment — grade E

The candidate has had a number of attempts to complete the flow chart and has gained a mark for correct
knowledge of vaccine and macrophages. There has not been a check on the completion of the chart, as the
term ‘antibodies’ has been written into a blank space, when the word did not appear on the list. It is clear
that this area of the syllabus, section J, Immunity, has not been well learned or understood.

e PAST PAPERS
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Question 4(b)

(b)  Explain why the person is unlikely to become ill if they are infected by the same pathogen some
months later. (3]

Mark scheme
(b} 1 active (arificial) immunity ;

2  memory cells [ immunolegical memory ;
3 (dea that many specific, B-cells [ T-calls / iymphocytas, in the body ;
A large(r) clonas of specific, B- { T-cells or lymphocytes

actual invasion by the pathogen

fast sacondary (immunea) response ;

fast increase in antibodies / immediate production of antibodies ;
ignore incomract type of call secreting antibodies

Lo I

& highier) concentration of antibodies are produced ; A more antibodies produced
T pathogen destroyed before person becomes il / AW ; R antigen
A pathogen do not, increasa in numbar [ infect calls / AW [miax 3]

Example candidate response — grade A

Te.. AT, celds. Aﬁ&sa-gu,.z%h M;‘.’gﬂ@
4 l__mm.ﬁnm d #mm Prtisndag. DS

. dhe.. &fuu& Jz‘k(ﬁm_-ﬂfﬁ.mg Eﬁ:l.;:ﬂ.;«nifr:f.f . ::..;z—.s:.r.(:(m.q.f’n,......

g wbasi ag i comd s ioly. o o1y oatomicy
..ML&T-AEJE.MM&.F@.p.mﬂﬂ,..ffém.,...

._Fyf:mm ae by, 2. {:l.df;kﬂ-. =€ fﬁn{-ﬁ. WMILL,,...

{ Moz ambbalies cdboih ailh. m
Jm?.ﬂw Serdem S0 00008 240000 .

ﬁqu(m%m&afa.ﬁvm ...................... 3]

Examiner comment — grade A

This candidate has given a good sequential and a clear consequential account of the immune response and
has geared the response to explaining why the person is unlikely to become ill again. The correct scientific
terminology has been used in the correct context.

e PAST PAPERS
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42

Example candidate response — grade C

(b) Explain why the person is unlikely to become ill if they are infected by the same pathogen | g,
some manths later. Examinars

o Bssmce.. slion. Ak Ak, arkgehn, jim,mmmlnda
gﬁilyﬁ‘n&muhcﬁd‘lﬁﬂm DR RN, A,

Examiner comment — grade C

This candidate has attempted to convey the right idea, but is short of further detail and could qualify the
answer with an explanation that there would be more lymphocytes produced in a shorter time period. The
humoral (antibody production) side of the immune response has not been covered.

Example candidate response — grade E
Jhis. is.. becouse.. the.. concentratian..of. . the...

prasme-cells. specipic. Bocelli. s highec..campared.

,h::v...the.._Pﬂ;mn:g,...[mmune..,-rﬂipams:.:..J-hlhm...hb.e...same .....

.dlulde,,-.hg...mxmiﬁ...,m,...prm.d.ufﬂ.-plnﬁm.._m..-.n.'.\hﬂﬂ:h
seciele..antibedy..Specipic. lo.the. Antigen:, These......

the. Speagic..teceptor.te. ihak.op. the. ankigen. "The......... [
Memery..cells. thep.remain.. n. the. . hload.:.

Examiner comment — grade E

This candidate has not focused on explaining why the person is unlikely to become ill. A mark has been
awarded to the benefit of the candidate, despite the fact that there is also some confusion as to the role of
memory cells, as these are only mentioned as a product of the secondary immune response. To answer the
question the candidate needed to get across the idea of fast speed of response and high level of antibody

production.
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Question 4(c)

(c) Some parents decide that their children should not take part in a vaccination schedule.

Suggest how a country-wide vaccination schedule can give protection against infection to
unvaccinated children. (2]

Mark scheme
(e} two points to look for

{if) most ! sufficient / many / AW, people [ children, immunised / vaccinated ;
A herd immunity

reduces the pool of infected, people / children, in the, community / population ;
A fewar peopla can catch disease and ba sourca of infection
A protects those unvaccinated as, disease / illness, does not spread
A less chance of ransmission

A pathogen cannot develop in immunisad paopla
A reduced exposure to pathogen [max 2]

Example candidate response — grade A

Loy, 7Lt MACCUAGICH. ... SNSLVES.... HACH... CARINGUTHS. ... |
zaccuwaa red.., eliniaaing... egevuours. gl Laf
pecgles.and... redutting...cnanas. of . Spead. 10 gllr |
05,08, PROE0. K0 NOCOUAMRL.: .o s 2] |

Examiner comment — grade A

This candidate has explained the concept of herd immunity and it is evident that the candidate understands
the concept. This answer could have been improved if the slight contradiction of ‘everyone is vaccinated’
and ‘'most people are vaccinated’ had been corrected and if the ‘other people’ had been named as the
‘unvaccinated children’.

Example candidate response — grade C

)\'iﬂ, A’Eu,ﬂnﬁmﬂam.,ﬁ:}éﬁf_ ::f.ﬂﬂ.r: ..... gﬁﬁm.gﬂ"ﬁ...,,..,
@ﬂu&r eﬁzﬁa AMa.eme. danice.. b peltosan in....
telhagim. Lo l

Examiner comment — grade C

This answer has gained a mark but it is not entirely clear that the candidate has a full understanding of the
concept of herd immunity as the explanation is weak. The idea of a reduced pool of infected people, or
protection of unvaccinated children as there is very little spread of the diseases should have been given. The
second sentence suggests that the candidate is not confident with their initial explanation.

e PAST PAPERS
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Example candidate response — grade E

wmu%m&‘mﬁ-}‘dﬁrﬁmﬂﬂﬁimaﬁhmumﬁg
e disseea.. geor. the inxaccinatiml. chldmn. and....
Eelicake. gacents.elkonk. e cliseasE .2

Examiner comment — grade E

This response, while possibly on the right lines, is too vague for marks to be awarded. Although the
question concerns a health and social issue, the response should have been given in biological mark points.

Question 5(a)—(e)
5 Stale the term that apphes 1o each of the descriptions (a) to (@).

(a) Slorage polysaccharide in animals made of chains of 1.4 linked o-glucose with
1,6 linkages forming branches.

..................................................................................................................................... [1]
{b) A plant that has adaptations to enable it 1o live in areas where walter s in short supply.
.................................................................................................................................. 1]
() Any cell containing one complete sel of chromosomes.
.................................................................................................................................... [1]
(d) The name of the frophic level to which photosynthetic organisms belong.
. [1]

(e) A process carried out by bacteria that nvolves the conversion of atmosphenc nitrogen
into nitrogenous compounds that can be used directly by plants.

.................. ARSI A R -
[Total: 5]

e PAST PAPERS
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Mark scheme
5 (a) glycogen ;

(b) xerophyte ! xerophyllic ; A phonetic e.g. zerophyte
{c} haploid (call) ; A monoploid
(d) (primary) producer ; R first fgnore autotrophic

(a2} [(nitrogen) fixation ; A nitrogen fixing bacteria

Example candidate response — grade A

Paper 2 — AS Structured Questions

1

1]

1]

0

[1]
[Total: 5]

(s) Storage polysaccharide in animals made of chains of 1,4 linked a-glucose with | e

- [1]

(b) ns to enable it to live in areas where water is in short supply.
i)

()

1}
(d)

- 1]
(e) A process carried out by bacpéria that Involves the conversion of atmospherie nitrogen

into n:ilmgﬂnnus compoundg that can be used directly by plants.

Examiner comment — grade A

The candidate has demonstrated knowledge and understanding from across the syllabus, as five different

sections are represented. Spellings are all correct.
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Example candidate response — grade C

(a) Storage polysaccharide inanimals made of chains of 14 linked a-glucose with | U=
1,6 linkages forming br §.

DGR, K ,./ [1]

(b} A plant that has adaptatic /a enable it to live in areas where water is in short supply.

(e} Any cell containing one ;?Jl&'[ﬂ set of chromosomes.

{d) The name of the trophic ]W hich photosynthetic organisms belong.

(e) A process carried out by bacteria (8l involves the comversion of atmospheric nitrogen
into nitrogenous compounds thalan be used directly by plants.

[Total: 5] | 4

Examiner comment — grade C

This candidate has a good knowledge of different areas of the syllabus. The incorrect answer for (¢) may
reflect a question that was not read carefully enough.
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Example candidate response — grade E

()

()

(c)

(d)

(e}

Storage polysaccharide in ammals made of chains of 14 linked «-glucose with
1,6 linkages forming branches.

Stowh, - ardue § amdopedin- S5 T ull

CPielesel - S ]
Tha name of the trophic Ia'.re/w"';-'pir:h photosynthetic organisms belong

s
Pradiicors. Ko .f.". .................... e R e (1]

A process camied out by bacteria that involves the conversion of atmospheric nitrogan
inte nitroganous compounds thal can be used directly by plants.

[Tiotal: 5]

Examiner comment — grade E

This candidate has gaps in their knowledge and has only been able to give two correct terms for the
descriptions. This style of question, while outwardly appearing easy to tackle, requires candidates to think
across a broad range of biological topics. It is most important for the candidate to re-consider and confirm
the response in the light of re-reading the question carefully.
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48

Question 6(a)

6 Fig. 6.1 is a saction through lung tEsue showing an alveolus and its blood supply.

Fig. 6.1
(a) (I} MName the type of epithelial cell shown by label lines A and B.

- 1]

(i) Describe how the elastic fibres of the alveoli contribute to the healthy functioning of
the lungs. 2]

Mark scheme
6 (a) (i) sguamous/pavement (epithelial) ; 1]
{ii} stretch / expand, on inspiration and recoil on expiration ; R contraction
(stratch) to increasas, surface area / voluma of alr, Tor, diffusion / gas exchange ;

(racoil) o help, expel air / force air out ; A carbon dioxide
A if destroved then cannot expel air

pravant alveoli, bursting / braaking / AW ;

ref, to emphysema if elastic fibres destroyved ; [max 2]
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Example candidate response — grade A
{a) (i) MName the typg-6f epithelial cell shown by label lines A and B. '{
e LI )T AT S 7| OO | | |

(i) Describe how the elastic fibres of the alvecli contribute to the healthy functioning of
the lungs.

Klastic. fLoms. c).. epawid. o shetchn.,
NOURAL.. LOSIELR... 140, aluiol.. ducyad,
ko, el dunng... beatial

alvedy. fiown.. Burshing. Liaoler.. ol

Examiner comment — grade A
In (i), the candidate has given the correct type of cell, spelt correctly. The answer for {ii) is concise and to
the point, with the correct use of terminology.

Example candidate response — grade C

(a) (i) MName the type of epithelial cell shown by label lines A and B.
S 1 BT 1 SRR —— 1] JI
(ii) Describe hc:':l: the elastic fibres of the alvecli contribute to the healthy functioning of ull
the lungs.
TL"*E%J"J;.'EH#; m‘.Ltw:.J:.f'?.'::‘s....ﬂﬂ:-:!ﬂﬂhn.;'l....!':m'ﬂ'imh:nh u@ ...........

Examiner comment — grade C

The type of epithelial cell is named correctly in (i). The mark in (ii) was given to the candidate’s benefit,
as the description could have been improved with a clearer link between the expansion on inspiration and
an increase in surface area for oxygen uptake. The correct scientific terminology is not used — ‘recoil’ was

required, rather than ‘contraction’.
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Example candidate response — grade E
(a) (i) Mame the type of epithelial cell shown by label lines A and B.

E@Mmﬁ_ﬂﬂim%ﬁfm‘m m | O

(i) Describe how the elastic fibres of the alveoli contribute to the healthy functioning of
the lungs.

These.. Lfm,ﬁangbmm b combinek ook neba....

.sziie,azE-é. J'L.E ﬁﬁ%jmlﬂnﬂlﬁt ﬂxﬁr
Aﬂ:.t. LT -Zgﬂml e M L 5 b Ll ﬂmﬁfﬁye.a ]

Examiner comment — grade E

The candidate has misinterpreted the question in (i) and has attempted to give two types of epithelial
cell. Incorrect terminology, ‘contract’ has been used in (ii) instead of ‘recoil’. The candidate has a grasp of
the idea that elastic fibres help to expel air, however the wording used is poor and the mark is only just

warranted.

Question 6(b)

(B) The actual diameter of the alveclus along the lne X-Y is 220 micrometras (pm).
Calculate the magnification of Fig, 6.1.

Show your workiing and give your answer to the nearest whole number.

Ty g TSR RRERRNPNDRIS SRR ;. |

Mark scheme

(b} award o marks If correct answer (anything In range 336-346)
allow =~ 1 mm in reading the ine [74=76 mmy)

75000 pm { 220 um =
31 3

if answar incormect, award one mark for comect measuramant with uni and division by 220
award one mark if correct answer given fo one or more decimal places [2]
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Example candidate response — grade A

(b} The actual diameter of the alveolus aleng the line X-Y iz 220 micrometras (pm).
Calculate the magnification of Fig. 6.1.

Show your working and give your answer lo the nearest whele number.

_ 15006 2
mer, M= = 40-9
i % Saf e
¥ [ Tale] -_.-‘"'f._._.-""'f I
S000D Im . : 4 .-".. _,.--"". )
T ANSWET X .eoeese 34\;{3 ................ [2] =

Examiner comment — grade A

There is evidence that the candidate has measured the line X-Y as 75 mm, which has then been converted
correctly to um by multiplying by 1000. The correct formula for calculating magnification is given and the
candidate has shown the calculated value as 340.9, correctly rounding up as instructed. Every step leading
up to the correct answer is clear.

Example candidate response — grade C

(b) The actual diameter of the alveolus along the line X-Y is 220 micrometras (um).
Calculate the magnification of Fig. 6.1.

Show your working and give your answur to the nearest whole number.

E:sfnl-"‘ T i = 15x Eﬂl sy mﬁ ; S 10- - S by I
% W |

febud = 220% 1075, 3 | o |1

Examiner comment — grade C

This candidate has gained the two marks for the correct answer and most steps leading to this can be seen,
although this is less clear than the grade A example. This particular candidate has used a different method,
by converting the mm and um values to the S| base unit, the metre.

Example candidate response — grade E

(b) The actual diameter of the alveolus along the line X-¥ is 220 micrometres {pm).
Calculate the magnification of Fig. 6.1.

Show your working and give your answer to the nearest whole number.

0 s ; € 0004
MQ;EN q'n mhEs = %ﬂl’@f 220 Mm g
bual gt ohy.n Foo

HHEW .

Examiner comment — grade E

The candidate knows the correct formula to use but has not noticed that the answer was required to the
nearest whole number and has lost a mark.
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Question 6(c)
(e) Outline two features of a gas exchange surface that are shown on Fig. 6.1.

Mark scheme

(e} look for two ideas — follow usual rules for marking numbered answer lines

thin, alveoclar wall  epithalial lining AV ;
A short diffusion distance (between air in alveolus and blood in capillary)
A squamous cells are thin
R thin, membrana / cell membrana R large surface area

sumounded by, capillaries / capillary network ;
A close contact with, capillaries / blood (vessels [ calls)

A many capillaries
A large area of alveolus in contact with, capillarias / blood [2]

Example candidate response — grade A
(e} Cutline two features of a gas exchange surface that are shown on Fig. 6.1.

g There w o dacreansd dpdfon Aidmem fr gn.. @Chedg o5 e
alueolar -._umﬂ\ " (orts 2 @l ﬂm‘b;}

Emwmknn' H&M%ﬂm&?m

Examiner comment — grade A

From the list of features of a gas exchange surface that has been learned, the candidate has correctly
identified two of these features that are also visible on Fig. 6.1. Note that the candidate has ensured that the
mark point is given by including a brief qualification of the clearly-stated feature.

Example candidate response — grade C
ge surface that are shown on Fig. 6.1.

o
|

the. ge.alveolar.amall. and. the.. htaud caplllary /Lzr‘
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Examiner comment — grade C

There are two correct visible features outlined in this response. Both features could have been briefly
qualified with a reference to gas exchange, for example in part 1 the sentence could have ended with *
for efficient uptake of oxygen’, and in part 2 the candidate could have included ‘for gases’ after the ‘short

diffusion distance’.

Example candidate response — grade E
(e} Qutline two leatures of a gas e;aﬁnga surface that are shown on Fig. 6.1.

11Rhep'd“ Jura., han ym Sistongs, B ﬁ?ﬂ* /i) Qﬁ-&ﬁummlﬂ ||

aehCs

ks Ted Wk it ] (R BRI cooosssetsomameeersesmmees sttt s

2, Dédlya ﬁﬁm mmb—mammhﬂbmuﬂnmp%%uﬂﬂ — ,-~|f
e 12)

Examiner comment — grade E

A correct feature is given, with the incorrect spelling of epithelium being close enough to the correct word
to be allowed the mark. The ‘large surface area’ feature of gas exchange surfaces is linked to the presence
of many alveoli rather than the one alveolus shown, so the candidate’s idea of ‘higher surface area’ is not

relevant; also this feature is not visible in Fig. 6.1.
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Question 6(d)

Fig. 6.2 is a simplified diagram of the circulatory system of a human, showing gas
exchange in the lungs and in respiring tissue. The partial pressures of oxygen (p0.) and

carbon dioxide (pCO,) at four locations are also shown.

(d)

branch of pulmonary
artery

pCQ, P
6.00kPa 533kPa

capillary network
(venous aend)

PO,  po,
800kPa 533kPa

With reference 1o Fig. 6.2, explain how the differences in p02 and pCO
and in blood enable gas exchange in the lungs and respiring tissue.

alveolus
poQ, PO,
5.33kPa 1387 kPa

S

— heart

o o

branch of pulmonary
ViEin

PO, po,
5.33kPa 13.87kPa

=

body tissue

Fig. 6.2

Cambridge International AS and A Level Biology 9700

capillary network
{arterial end)

pcO,  po,
ha3kPa 13.33kPa

nol to scale

=)=
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Mark scheme
{d) max 3 if no ref. to diffusion

{named) gasi{es), diffuse down, pressure gradients / concentration gradient / AW ;
A from high{er) partial pressure to low(er) partial pressure
A highier) concentration to low{er) concentration
ignore 'along a concentration gradient’

in the answears accept the following AWs
capillaries / haemoglobin for blood
lungs for alveall

body for tssues

lungs

valid statement linking information in table below — 1 mark for each row

comparson in pamal pressure may be “higher / lowser’ not both or high and low, b i not

then figures have to be given
blood ref. to blood partial | alveolar air gas exchange

gas pressure partial pressure
in pulmonary | pO; 5.33 /lower | 13.87 [ higher into blood from
artery / alveolus 5
antaring
alvaolar pCO; 6.00 / higher | 5,33/ lower out of blood into
capillarias alveolus ;
respiring tissue

valid stafement linking information in table below — 1 mark for each row

blood ref. to blood partial | tissue partial gas exchange

gas pressure pressure
in systemic POz 13.33 / higher | < 5.33 / lower into tizsua from
artery | blood -
entaring
tissua pCOs 9.33 [ lowar > 6.00 f highar out of tissue into
capillaries blood -

R differences between p0; and pCO; in the same place

=/

[max 4]
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56

Example candidate response — grade A

T 300 o€t eduedas (1197 2P0 1 higher Yran.

bl fﬂii:.'-mk?:r:'i o e Wb o b

........ Ly
. - :

Examiner comment — grade A

The correct terminology, diffusion and concentration gradient, has been used to describe and explain the
movement of gases. The candidate has organised the response in a logical way and has used a separate
paragraph for the explanation for each gas. Good reference has been made to Fig. 6.2. In explaining the
direction of movement of oxygen in the lungs, a descriptive comparison concerning pO, in the alveolus and
in the blood is given, which is supported by comparative numerical data. The situation in the respiring tissue
is also explained correctly and in a concise manner. A similar style is adopted for the explanation for carbon
dioxide.

Example candidate response — grade C

- [4]
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Examiner comment — grade C

This candidate was able to apply well their understanding of gas exchange in the lungs to Fig. 6.2 and
correctly compared differences in partial pressures of oxygen separately to differences in partial pressures
of carbon dioxide. The question also asked for an explanation of gas exchange in the respiring tissue and
the candidate ignored this half of the question, limiting the marks that could be achieved. An additional mark
could have been gained for the use of the term diffusion in the correct context.

Example candidate response — grade E

el r.t-'.ﬁptnng tl RS, the. partial plRSEULE. .Of .C.0,.

Is. h@h the.. Hﬂ:&ﬁaﬂgﬁﬁ:&f& 16, bloodl.cells..pick. up...Lha

...iﬁ.’...ﬂ]fbﬂﬂdﬁﬂﬂﬁ..gﬂﬂ.—...]ﬁﬂ.ﬂ....ﬁ.iﬂ @..!.E.,,.ﬁfg.flﬁf..,...
dhan o the.. P.0g. iaath... at. . Venouws. . end.. . Iha.

Pleod...n0ues 0. 14 .Cldveclus. ... . the.. pCOY....
is.ow. (o..1ho. clveolus.,.. Cog. ﬁiﬁuﬂ& Qut..CF..tha.
bieed. to..go. 10k, the..alveelus:. The.. pOs..belng

...:3.:..5.?.._.iéPa__.rs..,b.@.hﬂ....,marr..m.,..the___-ﬁ_f;m Lwhich. Js....

only...5:33. K P Hen @..0xiggen. cigp yse fram. the. cttucolus| |

.intp..the..hteedl:. This. bew. Lhe. bloce.. becomes..oxyge:-. 1)
nceted anel 0g 15 renoveol .

Examiner comment — grade E

The candidate knew that the movement of oxygen was by diffusion from a higher to a lower partial
pressure but has incorrectly made a comparison of the pO, with the pCO, in each location. A confident
understanding of diffusion would have led the candidate to a comparison of the the partial pressures of
oxygen in the blood with that in the alveolus, and then a comparison of the partial pressures of carbon

dioxide.
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Paper 3 - Advanced Practical Skills

Question 1
1 When plant lissue is soakead in mathylens blue the tissue takes up the stain and is coloured
blue.

Copper sulfate solution affects the selective permeability of cell membranes.

You are provided with

labelled contents hazard concentration/% | volume /cm?®
copper sulfate i
c soluticin harmful irritant 03 60
w distilled water | none - 100
labelled contents hazard details quantity
P slainad plant | methylena blue | same cross-sactional 5
lisgue will stain your | area, stained with
shin mathylena blue and
washed

If any methylene blue comes into contact with your skin wash off immediately with
water.

It is recommended that you wear safety goggles/glasses.

You are required to investigate the effect of the independent varnable, concentration of copper
sulfate solution, on samples of plant tissue which have bean soaked in methylana blue.

(a) (1) Decide on the concentrations of copper sulfate solution you will use in your
investigaton.

You will need 10em® of each concentration of copper sulfate solution,
Preparea the space balow to show
+  the concentrations of copper sulfate solution

+  the volumes of copper sulfate solution
+  the volumes of distilled water.

[3]
Make up the copper sulfate solutions that you have chosen in the containers provided.

Put 10cm® of the appropriale concentration of copper sulfate solution info a labelled
test-tuba.
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You are provided with five pieces of plant tissue with the same cross-sectional area in a
container of water, labelled P.

Proceed as lollows:

{Always use blunt forceps when handling the plant tissue to avoid contact with
the methylene blue).

1. Hemove the pieces of plant tissue from the container, labelled P, and place them
onlo a white tile,

You will need to prapare one sample of plant tissue to put into each of the
concantrations of copper sulfate salution,

(i) State which variable you will nesed to control when preparing the plant tissue
samples.

.[1]

(iii) Describe how you will control this variable and prepare the samples of plant tissue.

2.  Prepare the samples of plant tissue as you described in (iil).
3. Empty the colourad water from the container, labelled P.
4, Place the samples back into the empty container, labelled P,

5. To remowe excess methylene blue change the water five times, either using a
syringe or by pouring off the water. Do not touch the plant tissue,

6. Remove the samples of plant lissue and add one sample of plant lissue 1o each
test-tube of copper sulfate solution,

7. Immediataly start timing.
8. Observe the test-tubes for 5 minutes and record your obsarvations.

9. After fve minutes, mix the contents of the test-tubes. by inserting a bung and
invarting each test-tuba.

{iv) Prepare the space balow and record your observations. [5]
(v) Suggest how copper sulfate solution affects plant cell membranas. (1]
(vi) Identifty three significant sources of error in your investigation. 3]
(vil) Suggest how you wauld make three improvameants to this investigation. [3]

[Total: 18]
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Example candidate responses — grade A

{a) (i) Decide on the concentrations of copper sulfate solution you will use in your
investigation.

You will need 10em® of each concantralion of copper sulfate solution.
Prepare the space balow 1o show

the concentrations of copper sultate solution
the volumes of copper sulfate solution

+* the volumes of distilled water. 3]
Kalckive | Voharne of ¢ v |Nodwsrne of
Cﬂ-ﬁtﬂrﬁm;\-m:‘: supirake g mtu;}fn?: ass\-ied welke v

LSohalievsy -‘" crn® '/ crrd

. 3 \O : ; <

©.24 *l % 2

o \F & H |

o2 H 1 I

o .06 1 g I

Q- 00 =] =

131

Maka wp the copper sulfate olutions that you have chosen in the containers provided.

\\,\' Put 10em? of the appmpﬁim concantration 1:|1' copper sulfate solution into a labelled
test-tube,
J

Ape. Xogen.. of. Koe..plank. issue.... 1
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Paper 3 — Advanced Practical Skills

(iif) Describe how you will confrol this variable and prepare the samples of plant tissue,

qﬁ:aha;ahrk"‘::ms e..ard. Yhen, ng?im{i

Hﬂ"{:ﬂ
(iv) Prepare the space below and record your observations. [5]
gnﬂm c:-'mur oF &o T
ke after RIRIRG o
0-30 Darle, blue
6-25 Dok  blue
o-20 bliwa
0-15 . blue
.10 ' pale blue
\’?‘*
\Y
(v)  Suggest how copper sulfate solution affects plant cell membranes. [1]

s.muhm ...... [pcreases.., . |

bao— methylona H i
T e S
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66

(vi)

Identify three significant sources of error in your investigation. [3]

i ‘D@}{L}.}, ..... te.. o.d«d&m_ sample..of.. plank.. Hesue.

(vii)

||

Suggest how you would make three improvements to this investigation. [3]

.. Vse. ... wider... rnge.... %\fﬂnmkxﬂhpn e
~Lepper._silphake.  solubion....

Examiner comment — grade A

(i)

(ii)
(iii)

(iv)

(v)

(vi)

Three marks were awarded for making the correct decisions. This candidate showed a clear
understanding of selecting more than four concentrations, using the 0.3% copper sulfate solution
provided and the selected concentrations gave a good range to provide good results.

The candidate selected the correct variable of length.

The candidate answered the question by describing how the plant tissue would be measured and cut
using a ruler to measure and the knife to cut the material.

Of the two marks for collection, the candidate gained the mark for deciding to collect at least five
readings, for the second mark this candidate did not record their observations ‘after the first five
minutes’ as required in step 8.

The marks for PDO recording were for presenting a clearly ruled table with headings for the
independent and dependent variables including units which were only in the column heading.

The candidate changed the units for the concentration so could not be awarded this mark. The mark for
the dependent variable was awarded.

The candidate showed an understanding that the cell surface membrane had become more permeable
as a result of the copper sulfate solution.

The candidate correctly selected two significant errors. It is important that only those errors which

(vii) The candidate gave three clearly described improvements to gain full credit.

might vary the readings are included.
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Example candidate response — grade C

(a) (I} Decide on the concentrations of copper sulfate solution you will use in your
investigation.

You will need 10cm® of each concentration of copper sulfate solution.
Prepare the space below to show
*« the concenlrations of copper sulfate solufion

=  the volumes of copper sultate solution
»  the volumes of distilled water.

'I = e —— gl n . e it et
olumes af copper "-l"r_'llum.l e Fra B e T
Sl foyhe 1dqrf;n‘.|’cm' diek ""'"j """'“"' l'"r""" ';:TE':M 'h.a-l-...lh:-n f:uﬂi a'ﬁl

I} o 5
_ e . } .

| 5 2 4

|- & i 4 3 >

| Y & a

| i R pra ST amoemie o

. f & |

] g (s}

N
i~
\\mw '

(i) State which variable you will need to control when preparing the plant tissue
samp

'TLQ 5 LNV S | U= B TSTIC -1 E RO
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(iv) Prepare the space below and record your observations.

ﬁ‘h%.t’rqhﬂi 5}-—_\;__. I

CAter S aminoden. [ ATNOC mining condOnds.
 Onls o Imall amoued o |A OBk pold Wdap

A rh. PWa? shia Mg oul | 3 edionush cePuld
im i~ dhe sddedbon. | '

W oo R b e due En\u}rﬂ--...
T b e R

B e -:!L:i .""-5’;-1-1. oha®oed . i

fha More  sdaln d‘umq.i -h'[ sohadlon wita, -.1-.%"-&
c o8 Alhon B 'dnrimr Ahen B

 [Mael Much more shain r\Lﬂ olobon wa
D difuaed oud Ahen © ' blue '
i

r\I@ Cimmsmgd of Eh?ht |11|V\ﬂ' &'-'-'I"'-—-l.l.'lnr-.._ oty
Catuged ool wita mock Wl

E_ C e At .-ILQ abaug ':]"b"r g .

ax dlo wppor leod oF

""—"“-an.\. calreasd

(5]
(v} Suggest how copper sulfate solution affects plant cell membranes.
%EWFMM?WR#%&;&LML ehe... oo A s R,

%&Lﬁamm;mmhﬂnnkiwuh [1]
{vi) Identify three significant sources of error In your investigation.

S=Pper. w.qm q._—______mm:.\,....xa....m.-m----mw_mi!:

'ﬂ?}ﬂ ...... SeAningt . -
-a\mm-«plmumnn\ s % B ) u-a@h o
. WO paina . ML S plR)..

M W JLP Ailorent. Somsemicsdan., 5:5: mﬁ;& .....
h.ﬂ.ﬁmfaf...?}md..-.b!iﬁf.ﬁ.aﬁ.-.%.wmﬂh e -’um\uam 3]

uuuuuuuuuuuuuuuu

68 Cambridge International AS and A Level Biology 9700



Paper 3 — Advanced Practical Skills

ents to this Investigation.

vl dmen, . eomeactha o S

1t Higskar
- AR tancordreNinns.. ob. Supees. s Phed R
jm\w}’lqh ...... poaadd 0B wad O s

YA o0 Bedh Can b s P seeed. e A8,
11U SET S 'S U EME - 7.2 IR, TS T CREREY ST 3]

Examiner comment — grade C

(i) This candidate gained the marks for the four or more concentrations and choosing a suitable range.
The candidate did not use the concentration provided to gain full credit.

(i) The candidate selected the correct variable of length.

(iii) The candidate gained credit for one mark but did not describe how the material would be measured or
cut.

(iv) The candidate gained both marks for the collection skills and the mark for deciding to collect at least
five readings.
The marks for PDO recording were for presenting a clearly ruled table with headings for the
independent and dependent variables including units only in the column heading. This candidate did
not have a column for the independent variable. A table of results should aim to provide the data so
that trends and patterns can be observed.

(v) The candidate did not understand that the cell surface membrane had been damaged.

(vi) The candidate identified two significant errors correctly. For example the use of the syringe would
affect all readings equally.

(vii) The candidate gained credit for describing how one improvement would be made. Candidates should
try to consider improvements for the different variables, for example independent, dependent and
standardised variables.

e PAST PAPERS
INSIDE

Cambridge International AS and A Level Biology 9700 69



Paper 3 — Advanced Practical Skills

Example candidate response — grade E
(a) (I) Decide on the concenirations of copper sulfate solution you will use in your

investigation.

You will need 10cm? of each concentration of copper sulfate solution.

Prepare the space balow to show

the concentrations of copper sulfate solution
the volumes of copper sulfate solution

the wolumes of distilled water.

T e oS T [ T
o3 . - Sl ot o
|‘€_n_:‘ focm® g 037 20
'c*g_‘ 15em3 o4 027 5§

6-a5 il 25 D
o0as [Pt § o5 25

(3]

(i) State which Vdriable you will need to contral when preparing the plant tissue
B8,

{lil) Describe how you will control this variable and prepare the samples of plani issue.

..... Cuk e Adssues Moo
.Shonct. o \'9"" mhﬁfel
ddoes |
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(W) Prepare the space below and record your observations.

; - :Inalnn-hl
S e
n.;% ar2. | o.m Ao meXyane. | Solbiion 4_3]
= celensed. jeom | dasv. \due
'rhr-lr dissua whe Yoo h-r‘t'n- ﬁm +
.il.ﬂ'h.l.n Y -
0.1% 55 o by “E!L—"'
a\% Aess “’dbl"d Solukion fused
: | edeu rr.-lﬂnﬂd. blug <& Shode
XA Ve s B o) U Yo
e el n .- g% .
"“-fn-rm.d 4
L IF T
'l:l-'i‘.l'- 113 & |
ia Mes ..alﬂ“:, u.uugﬂ.ﬁl- | Salakiion, Yuspaal
[T r.'—m £ 1,.“_
Plamte yissue 5
IM@ ll-'-uhnu.
ﬁ.'q!',,?_ 10 O >
ﬁ B h'dr\alou. Seludden 11}1..1:..1.‘«.
I:mﬂr Viasue twva Y WX
Suseesonding Sebdiwn | Wy % ot .
b.alf T 1o b.%a >

¥
N

(V) Supgest how copper suliais sol s St cal merE
”U'*gy i N AR A Ko SRR

..... o Rsnepess.... edeasiog. K. w;"lal, .m'

{vi) Identify three significant sources of error in your investigation,

ml*"a‘r*uhq.-hrw?mm .
— bﬁ t'llh"rll-“-l.d 5“__

’!Hl'!.e-?:-}.: ...... %mey oy M_‘“_xm
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(vii) Suggest how you would make three improvements fo this investigation.

e“ﬂ%‘&“ﬂ‘ ..... masses  |rstead T mﬁ:wj ______ Lengtte

\l‘h**- ..... ﬂwﬁtfﬂ-‘}l ________ g? anebiokons u::“vm

e, oo s w@ ™ ﬁ;é;-ﬁ_i;g.;ﬂﬁfﬁff'fffffff"ff"

Examiner comment — grade E

(i) This candidate gained full credit although the range was not even throughout the selected
concentrations.

(i) The candidate selected the correct variable of length.

(iii) The candidate gained credit for one mark but did not describe how the material would be measured or
cut.

(iv) The candidate gained both marks for the collection skills and the mark for deciding to collect at least
five readings.
The marks for PDO recording were for presenting a clearly ruled table with headings for the
independent and dependent variables including units only in the column heading.

This candidate did not head the independent variable column as ‘percentage concentration’ and also
included ‘%" with the different concentrations. The candidate should not have included additional
columns which were not recording results.

(v) The candidate showed an understanding that the copper sulfate solution had damaged the cell surface
membrane.

(vi) The candidate attempted to correct the error or did not describe how a particular error would result in
the readings varying as a result of the error instead of the change in the independent variable.

(vii) The candidate gained credit for describing how one improvement would be made. Candidates should
try to consider improvements for the different variables, for example independent, dependent and
standardised variables.
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Question 2

2 K1 is a shde of a stained transverse section through a plant organ.

f draw this quarter

Fig. 2.1

(a) (i) Draw a large plan diagram of a quarter of the specimen as shown in Fig 2.1.
Label the endodermis and the cortex. (5]

(i)  Make a high-power drawing of one large xylem vessel and the single layer of cells touching a
quarter of the vessel's circumference.

Labels are not required. (5]

Fig. 2.2 is a photomicrograph of a transverse section through a quarter of a differant organ
from the same plant species.

Fig. 2.2

{b) Prepare the space below so that it is suitable tor you to record the observable differences
between the specimens on K1 and that in Fig. 2.2,

Record your obsarvations in the space you have preparad.
[4]
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(e} (i) Table 2.1 shows the results of an investigation inte the contents of phloem sieve

tube elements.
Table 2.1
contents concentration in phloem sieve
tube elements / pgem—

sUcrose 120
ammanium ions 45
calcium ions B5
Magnesium ions 105
sodium ions 115

Plot a chart of the data shown in Table 2.1.

L N = |4 1|
mm
. = | .
2
1 - N = 4 ¥ L -
-
!
-
. "
1 -
i
i -
| |
i
i o= + -
¥
I
i
L - - - I . -+-
1

[4]
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(I} The contents of the xylem vessels were also investigated and the concentration of
calcium jons was found to be 190 pgem =,

Llse the result for the xylem vessels and the data from Table 2.1 to calculate the
percentage difference between the concentration of calcium ons in the xylem
vessels and the concentration of calcium ions in the phloem sieve tube elements.

You may lose marks if you do not show your working or if you do nol use appropriate

units. (2]

(d) The investigation into xylem vessal contents also found that there was no sucrose
presant.

Suggest why there is 120ugem™ of sucrose in the phloeam sieve ube alements.

2]
[Total: 22]
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Paper 3 — Advanced Practical Skills

Example candidate response — grade A
(2) () mea large pran dlagmm of a quunar of the apaumn as shown in Flg. 2.1.
Lek Ve.PQ= lomm

Label the endodermis and the cortex.

(5]
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(b) Prepare the space below so that it is suitable for you to record the observable differences
between the specimens on K1 and that in Fig. 2.2.

Flnmm your chservations in the space you have prapared.

Fm'tuvﬁ K\ fig. 2.2
Covicex srail . 'h:trae

yﬂ”’m vl ﬂmﬂ wﬁdeﬂ?v@

?‘n’kw cel\s > focked

poverdiynaa Soserk presenk
; '-‘f}ﬁ"l.e'rﬂ coral &«T ?y’qm neor e?idErm{E
‘ Poern cells E‘Ps‘d?rmﬁ e
E | Brecerlye __

[4]
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{c) (i) Table 2.1 shows the results of an investigation info the contents of phioem sieve

tube elements.
Table 2.1
| contents concentration in phioam sieve
tube elements / pgem—
- _hmn-sa | 120
ammonium lons | 45 |
.calcium ions 85
magnesium ions 106
sodium lons 115

Plot a chart of the data shown in Table 2.1.

# - |I L L] i =
: T
| = : II 1
3 I 1 |
yas | E ami :
- 1
T ||
-
Fud I
ﬂ oo I : ! '
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i f ! :
! i
% |
|
- I 1
] 1 1
i 1
Ta . ¥ un
\E$ 5 - 1
¥ i
% : :
= I
15 - L e
T ] .
. - e
l..nl'
g Comkerts [4]
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() The contents of the kylem vessels were alsb investigated and the concentration of
calcitim ions was found to b 190ugem=2.

Use the result for the xyiam vessels and the data from Table 2.1 to calculate the

percentage difference between the mnlmlinn of calclum lons in the xylem
vessels and the concentration of calcium jons in the phioem sleve lube elements.

H'hunmyhaa'nmrﬁaﬂwmmwrmr wirking or il you do nol use appropriate
units.

?ercm\coae Wevence = (%o - ?5—‘-) ® \OL ||

9o

= 195 x\9V
\qo

= -55-3\§'

2]

{d) The investigation into xylem vessel contents also found thal there Wwas no sucrose
presant.

Suggest why there is 120 pgem— of suchose in the phidem sleve tibe elements.
..ﬁ»hﬁlﬁm..:ﬁﬁi:'lm.?iitmﬂ?ﬂmhﬁ..,,..hﬁ?ﬂa‘!:f;x:f ..... P

g:ﬁmﬁ:r-:el Scdks. 'R";:lrf‘ rg.dtﬁ...,hﬁ.,.;.lanu:s.........,..........

1 -;‘fh - L;a:wr;:s ?ﬁﬁﬁﬁlEE....Wﬁ..hﬁ Plﬁukmaﬂrﬁr@;
Horeoswer.,. ghm ’hﬂﬁ Wﬂtﬁﬁﬁ%r ........
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Examiner comment — grade A

(a) (i) The candidate gained the PDO layout mark for the quality of their drawing which was un-shaded
and used most of the space provided.

For the three collection marks, this candidate understood that the plan diagram should not contain
cells but did not follow the instructions to draw a quarter. The epidermis was drawn correctly with
two lines. The innermost line did not follow the outline of each vascular bundle so this mark could
not be awarded.

The candidate used their knowledge and understanding of the AS syllabus to decide to correctly
label the cortex and endodermis.

(ii) The candidate’s quality of drawing was awarded the PDO layout mark.

The candidate was awarded the two collection marks for following the instructions carefully

and observing a correct number of cells in a quarter. However, no air spaces would have been
observed so this mark was not awarded. The PDO recording mark was for the detailed recording
of the cell walls by drawing the middle lamella and the thickness of the cell wall between the
surrounding cells. Two of the cells were drawn only just touching and this would not have been
observed.

(b) The PDO recording mark was for organising their observable differences into a table. This
candidate was awarded the mark for a clear table with three columns for the feature and the two
specimens.

The candidate did not record any clear observable differences using the correct tissue terms and
used the term ‘cell’ in the incorrect context.

(c) (i) These were PDO layout skill marks for plotting the chart.

The candidate orientated the chart correctly but did not label the y-axis so could not be awarded
the first mark.

The scale selected for the y-axis did not use as much of the grid as 20 to 20 mm and was an
awkward scale. The candidate needed to consider the precision of plotting to half a square so
2 mm would be 2.5 and half a square 1.25 ng cm=3, which is awkward, whereas 20 to 20 mm
would be 2.0 to 2 mm and so half square would be 1 pg cm=3.

The candidate was awarded the plotting mark.

The line mark could not be awarded as all lines should be sharp, clear and have an even thickness
less than 1 mm. The corners of the bars should meet neatly.

(ii) The two marks for PDO display were for showing clearly the arithmetic formula and giving an
answer to no more than three significant figures This answer was clearly presented and gained full

credit.

(d) The candidate read the question carefully and showed their knowledge and understanding of the
translocation of sugars in phloem and the direction of movement to gain full credit.
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Paper 3 — Advanced Practical Skills

Example candidate response — grade C

[ x 1w

(5]
(i)  Make a high-power drawing of one large xylem vessel and the single layer of cells touching a
quarter of the vessel's circumference.

Labels are not required. (5]
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Paper 3 — Advanced Practical Skills

(b} Prepare the space below so that it is suitable for you to record the observable differences
between the specimens on K1 and that in Fig. 2.2.

Record your obsarvations in the space you have preparad.

(4

Struckurpe k| Fg 22 .
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Paper 3 — Advanced Practical Skills

(c) (i) Table 2.1 shows the results of an investigation into the contents of phloem sieve tube
elements. (4]

Fmtgkmartnfmamm shown in Table 2.1.

15 q T A

5

- Sieve,

E

Phloerm

Saneniy [

¢

| mﬂgﬂmn (1)

P el
73
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Paper 3 — Advanced Practical Skills

(i} The contents of the xylem vessels were also investigaled and the concentration of
calcium jons was found to be 190 pgem—.

Lise the result for the xylem vessels and the data from Table 2.1 to calculate the
percentage difference between the concentration of calcum ions in the xylem
vessels and the concentration of calcium ions in the phloem sieve tube elements,

You may lose marks if you do not show your working or if you do nol use appropriate -
units,

Phlogn - SEpacs”
’“‘E&h - 1|0 degs

i ence in canctlcudion « 105 x loase
x\m%ﬁf

M BE-LER\E-

& F & L PN
G

o sigr A 2

(d) The investigation into xylem vessal contents also found that there was no sucrose
presant.

Suggest why there is 120ugem™ of sucrose in the phloam sieve ube alements.

.m"'l-hu:"... ..... Arenapecd...... -iu ... mh:.km;i.h, mm...,mﬂu.i‘i. Salrenl
O Snd.haa. Ao AN Ao, c0Ms o g nbram,. Ak .
SRARA.... S0 Rl el e Semaisha o S Rad. L sela
.-M.;.L Axtanapard.. Nl ?rné.....&km.....ﬁn....Hu‘;‘m&...r.ﬂlﬁh._
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Paper 3 — Advanced Practical Skills

Examiner comment — grade C

(a) (i) The candidate could not be awarded the PDO layout mark as the drawing went over the text of the
question.

For the three collection marks, this candidate understood that the plan diagram should not contain
cells but did not follow the instructions to draw a quarter. The epidermis was drawn correctly with
two lines. The innermost line did not follow the outline of each vascular bundle to be wavy.

The candidate used their knowledge and understanding of the AS syllabus to decide to correctly
label the cortex and endodermis.

(ii) The candidate’s quality of drawing was not awarded the PDO layout mark as the nuclei were
shaded.

The candidate was awarded two collection marks for following the instructions carefully and
observing a correct number of cells in a quarter. However no air spaces would have been
observed so this mark was not awarded. The candidate did not draw cell walls so the PDO
recording mark was not awarded.

(b) The PDO recording mark was for organising their observable differences into a table. This
candidate was awarded the mark for a clear table with three columns for the feature and the two
specimens.

The candidate gave three very clear observable differences using the correct tissue terms.
(c) (i) These were PDO layout skill marks for plotting the chart.

The candidate orientated the chart correctly and labelled the y-axis fully so was awarded the first
mark.

The scale selected did not use as much of the grid as 20 to 20 mm and did not label every 20 mm
on scale. The scale used was an awkward scale. The candidate needed to consider the precision
of plotting to half a square so 2 mm would be 2.5 and half a square 1.25 ug cm=, which is
awkward, whereas 20 to 20 mm would be 2.0 to 2 mm and so half square would be 1 pg cm=.

The candidate was awarded the plotting mark.

The line mark could not be awarded as all lines should be sharp, clear and have an even thickness
less than 1 mm. The corners of the bars should meet neatly. The bars should not have been drawn
touching but as separate evenly spaced bars.

(ii) The two marks for PDO display were for showing clearly the arithmetic formula and giving an
answer to no more than three significant figures. The candidate showed the answer to the correct

number of significant figures but did not show the complete working.

(d) The question required an answer in terms of why there was sucrose in the phloem not why there
was no sucrose in xylem.
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Paper 3 — Advanced Practical Skills

Example candidate responses — grade E

(a) (i) Draw a large plan diagram of a quarter of the specimen as shown in Fig 2.1.

Label the endodermis and the cortex. [5]

X100

(i)  Make a high-power drawing of one large xylem vessel and the single layer of cells touching a
quarter of the vessel's circumference.

Labels are not required. (5]

.
N/
1;:
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Paper 3 — Advanced Practical Skills

(b) Prepare the space below so that it is suitable for you to record the observable differences
between the specimens on K1 and that in Fig. 2.2.

Record your observations in the space you have prepared. [4]

kbt
\‘ k1 _" Tla. 40

- k1 is um.k:._,_ o weds ventuled La Fiy 58 e we Rt
eunakr Vastude Bundie

L FEFL A LA

_Iile swer Ln-mﬁ:}mﬁm;h ot |3l eule- J-.in.i‘t:L thasihy ab
Ihl'& coliy. m Sreniec  Tally, .

=Mk oee wahike haloa m'i-.:;__ e Wb L.:,'ug} o ;,;.._\qu
arg t_-..ﬂaﬂ-.. T | m{.,mﬁ & e ks eprked  laok 'Eq.'l.l.hh. s,

8 tirclen e HA2 o cirdg  meer Jlghtide - oudor
Nouger o oot

L qul'w1hh alilere : |

Rlsabfe ©F Amall cofls waki :.q:li._a_hh::: ﬂ;:ﬂ? wardt
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—_— e ——— .

(c) (i) Table 2.1 shows the results of an investigation into the contents of phloem sieve tube elements.

Plot a chart of the date shown in Table 2.1. (4]
fﬂﬂirﬂ T I mEmsmEEE e 1]
A7 P
[
SRz ; setzsiy
[ : =
5 a g F “ 1 F.‘f o |
=l r; r r
11 I 1 ¥,
"ﬂf e r Fi i u
" b } |
mriEn . | '
P . _F‘_
£ . I r ar e _F R'q_'
= - =
d
A e e A
1 F ¥ J i Hr HIFF f 441 |
i ;A . o
L “-Ir F. . .Hr
|F
f‘-ﬂ ' : lI_..l IEF i l_|"
. et
awa -"rl_-"' T -’F?'"_'
-~
X | Faaa jC jargaes
& 1 r4 . E.
,JL T i i . Jlrl' P f
Ho —H , o g e
i e 'J':h' o 7 Ha T FLd e 7
F'-' F ] i F
¥ | b b ?Ef =1 =
k . r, H i v Al 1r
1 ?;h‘_ IT q': EEBL LN
I:-{ b L0 - _H'. L. i o 2 1]
rdFdrd y - = r 8 il
e A I =| 5 7 i
: : NN ] 1T I.Fr h r
a L. H | ] r ol o of I
| AR 1 r
F PiWd P AN I P F
o A1 | | | ﬂ, : LELE L L™
B £ TOE L e fﬂl'.'an‘l'.HIPI"- Sl & 0N E T
11:""'5 g ans Rl k"

e PAST PAPERS
INSIDE

92 Cambridge International AS and A Level Biology 9700



Paper 3 — Advanced Practical Skills

{ii) The contents of the xylem vessels were also investigated and the concentration ol
calclum ons was found to be 190 pgem,

Use the result for the xylem vessels and the data from Table 2.1 to calculate the
percentage on_of calcium jons-in-the xylem
vessals and the concentration of calclum ions in the phicem sieve tube aelements,

You may lose marks il you do not show your working or if you do not use appropriate
units. ~
concenhoon 2L calefum 1o mHe Flnl.aem
sieve lube demenk= €7 }_ﬁaﬁ"ﬁ

£ oneedhotitn q-%cul.tmrn fems tn Ho mﬂl‘-ﬂ'\
wemels ' anpqn-ﬂ

Diffesnce behween koth i

Total ronredrablons = A0+ ES
= 8 )ﬂw"
Vecenge diffeence = J—— - XD = :,,q:?n_ 2]

(d) The investigation into xylem VEEEB| mrrt&nts also fourd that there was no sucrose
present.

Suggest why thera is 120ugem™ of sucrosa in the phloem sieve tube alemants.

elasahcsn o, e .. o of sl ”F ............

‘TL«:PLm _____ SUCrose. is... emeeib it .a. frmnst........

.___Qiuh_ Aathoreat.. te. EE::‘F ‘ﬂ{lﬁnu&nﬂfﬁﬂz
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Paper 3 — Advanced Practical Skills

94

Examiner comment — grade E

(a)

(b)

(c)

(d)

(i)

(i)

(i)

(i)

The candidate was not awarded the PDO layout mark for the quality of their drawing as the lines
did not join up neatly.

For the three collection marks, this candidate did not understand that the plan diagram should not
contain cells. The epidermis was drawn correctly with two lines. The candidate did not draw a line
for the innermost layer.

The candidate confused the epidermis with the endodermis.

The candidate’s quality of drawing was not awarded the PDO layout mark as there were dots of
unknown origin present.

The candidate was awarded one collection mark for following the instructions carefully and
drawing one xylem vessel with cells for a quarter. However too many cells were drawn in the
quarter and no air spaces would have been observed so these marks were not awarded. The
candidate did not draw cell walls so the PDO recording mark was not awarded.

The PDO recording mark was for organising their observable differences into a table. This
candidate was awarded the mark for a clear table with two columns for the two specimens.

The candidate did not record any clear observable differences using the correct tissue terms and
used the term ‘cell’ in the incorrect context.

These were PDO layout skill marks for plotting the chart.

The candidate orientated the chart correctly but did not label the y-axis so could not be awarded
the first mark. The candidate selected the correct scale as 20 to 20 mm.

The candidate did not plot the bars in the order in which the data was provided so could not be
awarded the mark. The line mark could not be awarded as the bars were drawn touching and
should have been drawn evenly spaced.

The two marks for PDO display were for showing clearly the arithmetic formula and giving an
answer to no more than three significant figures. The candidate showed the answer to the correct
number of significant figures but did not show the complete working.

The candidate correctly identified translocation as the process used in the transport of sucrose in
phloem.
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Paper 4 — A2 Structured Questions

Paper 4 - A2 Structured Questions

Question 1(a)

1 The Greal Lakes, in Morth America, lie batwean the USA and Canada. A survey of birds of
the Lake Ontario area has shown tha relative abundanca of birds batwean 1985 and 2005.

Tabla 1.1 shows the feading habits and the relative change in numbers of some of tha birds

in the survey.
Table 1.1
percentage change in
name feeding habit numbers between 1995
and 2005
mallard i
i plabtpriation amphibia, plants +10.0
trese swallow ey
Tachycineta bicolor flying insects -6.2
H;ﬁﬂﬂ"ﬂfﬁ:ﬂﬁﬂ aquatic insacts, molluscs, plants -12.3
P{mﬁ’ﬂ"pﬂ‘??ﬂ S amphibia, aquatic insects, fish 159
black term aqualic insects, fish, 8.7
Chiidonias nigar flying insacts :

(a) Using the informalion in Table 1.1 suggest reasons for the changes in numbers of these
birds.

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
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Paper 4 — A2 Structured Questions

Mark scheme

1 {a) 1 mallard numbers have increased and the others have decreased ;

decrease due fo
2 pesticides / pollution { fertilisers ;

23 change in femperature or pH of water ;
4  lack of named food source ;
5 incregsed competition /AW ;

6 direct human intarfarence on laka ; a.q. fishing ! salling atc
mat related o making polnt 2

mmallard Increases due fo
T doasn't eat, Insacts / molluscs [ fish :

8  less other binds so less competition ; [4 max]

Example candidate response — grade A
L TLTYE N ‘bn& hoave Ji"ll'n-l. I""Lh}"nnt Fu:f,ptnj;_ 'CLl.nJ;

Caterd, ?.' snanambes  dae Ta sbuadance of amphibiaan )

Rlaokoan e Vake o Bbeo Ahee b Ao

Yoo S d MW e Blat ben b

7 Compelilion
MEJ'L'{II'“““ 3

............. fronenta 5 Lo Shonn € in nambys Skt decveiadd
...Ea!‘..!.?.ftlﬁ......" Ao hamboes “1' bvch, 4 hf'{-"“‘ ft"‘ﬁ""h’

“EU’I o ﬂe,‘.u.lji L, qnﬂ E“l N &

""""" A'ﬁt“"!“"““ﬁ'{"'&'ﬂ“ “H Hr-&n-.“ ...k...‘...‘,, S I4]
_ﬁ-\f_ hu 5#&“1&4 1'1._1_}-} B un\'.j ‘. t;.j?;_ 1‘-
L3, }' 'ghnl'\. 'Ilill'l".ht. b om T b L'L"IEJ i B J

"["-ﬂ__:! 8 o 'L'-\tllj fa }-.HH-“- o mambly

Examiner comment — grade A

The candidate was able to correctly show that the reason why the mallard increased in numbers was due to
a decrease in competition. Reference was also made to the reduction in numbers of the other birds being
the result of hunting. The candidate could have got extra marks by referring to abiotic factors such as water
pollution, pH or temperature changes.
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Paper 4 — A2 Structured Questions

Example candidate response — grade C

The _maliorel hlrd 1nneu¢_f,d by 107 Moy be because s |

fesdihg... oo vags. geathy. ond nas genons of diet ; The
tree swallow. wineh feeds op flyng inseds degeased oy

2.7 may o oscause. net many.. fueg.. nseash o ..

fuvnd _oear Jokes. mnhﬂ%.....m)g:b*h'ﬁﬂ. .Jhe Bl winged feal
asg.. slegeased o
- 4]

Examiner comment — grade C

This candidate was able to score the first marking point by linking the increase in mallard numbers at the
beginning of the answer with the fall in tree swallows and blue winged teals elsewhere in the answer. A

reduction in a named food source, flying insects, also gained credit.

Example candidate response — grade E
gfﬂﬂfﬁ---{tﬂﬂ?ﬂ.it--..F.ﬁ...#.':-ﬂ,n:f'.'!.ﬂ:':"ﬂ.....Hnﬂ.-..ﬂ:ﬁ.ﬂ-#’.‘ﬁ...ﬂmﬂ...-&nﬂt....ﬂﬁ::{ﬂ.{ﬂﬁ.ﬁ#
A PETCR LG CERAG R B B CORE, . R, en., B2 v S bl gl el o
g e Kol RECRRDS L. Seretfl i en S 0k e ona 8ol bives,

........ { BAEER . ORGSR, AR, B AECPERE. fo, ey

/4

EARAG R TECA, SR S O SAC OO . A B Bt A GO B
RO AL ORECr . A R ASER L Bore o AR B B HE 00 e,

d. e Slrd S Fied. e E8, Avegtr, A ICSE Lo  fary Be

Brrnt. Aukes e Sewcce. R AL Ratae S0 et Fimels (4] | +
Earde 85 Fly blark ©FFa gas Aluso legeet frEl ofse raeteddn et

A HELAAOBE b pprebess | PogftRes ol BL B ol wot e b st Fria
bermiEs P Anacdss 85 BJuaiic FASSrfS Gad EftA soas o

S i BT -’:‘rﬁ-rﬂrﬂm'-_ﬁf o O e gLl

!".--.np_'..q. fa :
Frr e Aol Frooug i e RafdfAi~ Lo o5 gy P tl:--l".-r'l"nﬂi"
R PR T P T 1} |

Examiner comment — grade E

This question was designed to be accessible to grade E candidates and marks were achieved for mentioning
a lack of flying insects as a food source. The first marking point was also achieved in two different parts of
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Paper 4 — A2 Structured Questions

Question 1(b)

{b) An ecosystem that has a wade range of species has a high biodiversity.

Explain the banafits of maintaining biodivarsity.

. [4]

Mark scheme

(b) 1
2

%) ]

0 om o~ &

cultural ! aesthatic / leisure, reasons ;
maoral [ ethical, reasons ; e.g. right to exist / prevent extinction

resource material ; a.g. wood for building / fibres for clothes [ food for
humans

acotourism ;

economic benafils ;

ref. resource [ spacies, may have use in future ! AW ; 2.g9. medical use
maintaing, food wabs | food chains ; A descripticn
nutriant cycling / protaction against arosion ;

climate stability ;

maintaing, large gene pool | genetic variation ;
[4 max]
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Paper 4 — A2 Structured Questions

Example candidate response — grade A
L0 u.L

oy e Leawon oo Most  medianes ond  draat
:{Enup_d _fmm Jplonte and  onvenads . Tn mmﬁ_,____thgi

Shains e Needed. Ao Prxtuce.  few and ofpcient, dnage
@Lﬂl@@smﬁ?%iuimmmﬁdb“ﬁﬂﬂﬂ{/J

batanced  populodions o spreves, for ewnomuic w? an

-

Jrseds  help in. 0. S ingkd  glelding o wep. oty une
they towy our polinesen . In. fuin. these ploats and wnimali
e sewe 0s  fo0d  tourtes. tiesking. foed. thauns £ f el

Examiner comment — grade A

The candidate clearly understood and explained several of the benefits of maintaining biodiversity. The fact
that animals or plants may have medical uses in the future was stated along with economical reasons. A
good link between insects and effective pollination of crop plants was made. The importance of maintaining
food webs is a key factor in questions on biodiversity.

Example candidate response — grade C

_Eﬁlil.d.;.ﬂ“,i-::.tﬂ,.;.i...Hnuf.!:}..ﬂ-ﬂ...r.n#ﬁ-l_.-l{-.--j#MTM...F.&T..F.EF-HI&&TZME
At drea..aash. e 0l and. in B spaepe. sam skl ont ..

Examiner comment — grade C

This candidate was able to give three good answers to illustrate the benefits of biodiversity, namely the use
of building materials and tourism to give income to local communities.
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Paper 4 — A2 Structured Questions

Example candidate response — grade E
..ﬂ:’.-:n::.:'-',.ﬂ.ﬁ.....-ﬂ'.-r:....m.#.r.'ﬂ.ﬂf:m‘.ﬂ.y.....ﬁ.{#ﬁ'i:#fﬂﬂ-.:!"-'.';!T.-‘f'r':ﬂ':t',:........ ey

. .ﬂ,-ﬂrﬂﬂﬂ [ == .'l":ll'h.- ..m“d. ﬂ'rﬂ-ﬂnﬂ'h- R - = wﬂlﬁu ' |b-£‘-.:1:‘:-1 fadiFsEEEERARITIREEREE

Examiner comment — grade E

This answer highlights the possible consequences of starting a question with a view to returning to it later.
Only one correct answer was eventually given.

Question 2(a)(i)

2 The diseasa-causing bacterium, Pseudomonas aeruginosa, may ococur in the form of a
‘biofilm’. A biofilm consists of a layer of baclenia, growing on a surface and atlached lo ona
another, Such biofilms are difficult to control by antibiotics.

A mutant strain of P aeruginosa has been found which produces biofilms that are
indistinguishable from those of the wild-type bacteria, However, the mutant strain differs from
the wild-type in its resistance to an anfibiotic, A.

(a) Antibiotic A belongs to a group of antibiotics known as anli-pseudomonal penicillins.

() Describe the mode of action of penicillin on bacteria.
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Paper 4 — A2 Structured Questions

Mark scheme

2 (a) (i) peniclin johikits, enzyme | paptidasa ;

2 blocks [/ alters shape of, active site ;

3 paptidoglycan chains cannot link up / stops cross-links forming ;
4 cell wall weaker / AW ;

5 turgor of cell not rasisted (by cell wall) f AW

g call/wall/ bacterlum, bursts ;

Example candidate response — grade A

Pemmunm*ﬂhtbfhemwmeﬂﬂ"értswmwﬂd

In. e fumoebon | S peddsgluaton o the

batteria el wall . The badenols el wal  fhus
has h[:lpjg So ok  whnen  wator  ontevc -
osmpsis. ... the batkena bu%‘tj;’ﬂi 8 Tesk of

Examiner comment — grade A

[3 max]

The candidate was able to clearly state that the enzyme used in the formation of the peptidoglycan wall is
inhibited. This was followed by an accurate description of the bursting of the bacteria due to weaknesses in

their cell walls.

Example candidate response — grade C

Prnizallin. fanction. toy.. o e i i gt frrmation. a g
Srnfslon k.. A peplidoglyton. manomens. fs. .o result
.o.i:..kﬁdﬂ....hal.:&..wm.i:m.._.Ej..-n,ui:u o vk 8 T B ttc] ...

Wy ax.firedlsce, [3]

...m;n.k:h_-mtm_- -

).k

end. et o refy

Cell asall,
e bu

: _mﬂ.,.tnnﬂmn..!:ﬁ.khﬂ:
{ s

Examiner comment — grade C

This candidate has accessed similar marking points to the grade A candidate such as the bursting of the
cells due to an inability to withstand turgor pressure. A specific reference to the technical aspect of cell wall

production, formation of cross-links between peptidoglycan molecules, was also made earlier.
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Paper 4 — A2 Structured Questions

Example candidate response — grade E

Feoilin... .o b apedmm, ahbbieke 2 gunthang
24, n}&}ﬂf#ﬁg Antne. ayothe g g ellalha....

,_.,.-—-""
b inhihite.. -£0201088.... Javelved  ta. the “’/f,
Q2

_‘%&nlrhﬁ%: ey S’ Coeg i‘ﬂ?lu@eJ betuocen Ia/
PPR Lol . QOIINEES

o« [3]

Examiner comment — grade E

The candidate has displayed reasonable knowledge of this topic by mentioning that enzymes involved in the
formation of peptidoglycan cross-links are inhibited.
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Paper 4 — A2 Structured Questions

Question 2(b)

(b} Wild-type and mutan! bacteria were grown on solid culture media both with antibiotic A
and withou! anlibictic A.

Tha subsequent change in numbers of living bacteria is shown in Fig. 2.1.

10 T T T
E!...' without antibiotic A
E --—-'J-* 25
B "\_L' : L5
ur =a :
7 T
nw on .. AN
relative 1
number of L RN AR RE RN . A REN N TR .
Insing Fwith antibiotic A
hacteria 5 H |
per cm? _ 5
4 ¥,
|
2
0
0 12 24 36 48
time/ hours
kay: w»— mutant
- s Wild-t‘hfpﬂ
Fig. 2.1
With reference to Fig. 2.1, describe the changes in numbers of the wild-type and mutant
bacteria on culture madia with antibiotic A and without antibiolic A, [4]
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Paper 4 — A2 Structured Questions

Mark scheme

[[31] without antibiofic
1 numbers of both wild-type and mutant strains, increase [ hardly changes ;

with antibiotic
2 numbers of both wild-type and mutant strains decreass ;

3  mutant strains decrease more than wild-type ; A faster
this subsumes marking point 2

4  after 24h, wild-type plateaus and mutant strain continues to decrease ;

o ref. comparative figures at any oog time ; ignave wnits for bactensa
biue with blue
rad with red
red with blue — with anfibiafic [4 max]

Example candidate response — grade A

[}
-
H
B
P
S
-
]
el

Naefoio wrr Sumileg in

pemey  datieasey  Ahiod XY taegfes

kzen B8 beicie oo gl LMhen aatibistic

- P - 'H."‘ ""!' sevdlinine '“h'i hH.F-—"JL-fI ni w.\k t;}‘fl A .J..,. 2
é.t_l...-t (X% ] 1:..} 'En.n E 5 ":i _Im ! I
.’“‘ on ____'!_"F____!__t__&_s_"!*.-_.&.h ___________

!'“'-’1" A hrars o BV b b el el
l'ﬂl'-‘h"'h.i"' & :I-"-. fLak L!:‘l '-'rt(-t t‘j ,rh‘*dth_‘_ﬁr |

Uh hawid Lvae -5 I» L...h

fiest 2y kowes

Examiner comment — grade A

The candidate was presented with a graph showing the effect of antibiotics on different strains of bacteria.
This candidate firstly indicated that without antibiotics the bacteria numbers would increase. Correct
comments were then made regarding the decrease in numbers of both strains of bacteria when treated
with antibiotics but that the wild type managed to maintain their numbers after 24 hours. Further credit
could have been achieved by quoting figures from the graph.
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Example candidate response — grade C

Wh%ﬂﬁ‘%ﬂb‘luﬁrﬂuﬂﬁﬂfﬁmhﬁh&#&ﬂ“ﬂﬂﬁﬂhg1
num.i.:ﬁ,.-ﬂf.._.431'.a3...mmt§@,,¢ﬁmm'nﬂl constant  at. 8,8m.
for. 12 hawrs, then ingensed to abgut §,Fam . the next,
Aaheurs_then continyed fo increage te 9, 0om’ i the next
24 hours. With. antibiotie A cthe wild lype debeased. fram..

Q8 Som® o Fan' in 24howrs then emained constamt  for

- LHdeurs . The mutant hype

ﬂﬁﬁmﬂ”ﬂL*EWtﬂ*ﬁﬁ#f@hbufﬁ*hf;ﬂ%w@gmm 4]

Examiner comment — grade C

This candidate was able to obtain marks by using figures successfully to give a comparison between the
effects of antibiotics on both strains. It is worth noting that marking point one was not awarded as both
strains were not clearly mentioned.

Example candidate response — grade E
Eﬁmm.&bmﬁ. '*E.,k&;l.ﬂ,.:nﬁ..ﬁlﬂ...nmm.:,n.mphw.:.m Joodkrrit.....
0: Ngr e 1S, S AR 2k 2 clkosn¥ 05, enal.. saoibhehtt

.E‘;\Eﬁ-..\mﬂ.ﬁ
I for ek wa i\_.;l-b:;.r;:t and mmukonc-
Laokibidhe A M2 A anhbie b B ik canbe Sern....

_.ﬁ;i..muﬂnb;.c sbud u.‘u::a. .E:}mh,ﬂm..f'ﬂ.r. .m]_id:kﬂpi...ﬂ!;..‘h m.e..h.f:.ﬂﬁﬂéﬂ
."nw...ﬂ..};m.;lﬁ o Masn n.p‘-tnhuu.li-r.ecmk;m--kh!-m?a«n.i-:.ﬁh‘i!j
l;q_t;,"t.e;fs.ta..gg.r. o r Y ¢m:'}{;mm1‘ilﬁ':%.ﬂ5‘mﬁ:rﬁm1:cmh

.E.E?Hm..'ts.-r::.,éﬁ:tnmmm.ﬁfm‘;.hm.ﬂ?iﬁmif.og.f}mmbm = (4] 3
Viv) nfj ackope and e direds Aetrens e Xar Lo Fﬂ‘r""ﬁ
b ackirna ger e 4 Yone from 12\ ko AS k. ,_*‘

Examiner comment — grade E

The response of this candidate shows the accessibility of this question as marking points one, two and four
were given for clear descriptive statements.
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Question 2(d)

(d) Explain the role of natural selection in the evelution of antibiotic resistance in bactera,

................................................................................................................... [3]
Mark scheme
[d] 1 antbictic, i3 selective agent / provides selective pressure ;
2 rmesistant bactaria, survive [ reproduce ;
3 pass allale for resistance to offspring ;
4 frequency of allale in population increases ; [3 max]

Example candidate response — grade A
LBeibe e H-J'-“H'ﬂrf-*mu!ém“-ﬂ sned i)

lk..;.,,}LT‘#ﬂﬂ'n, 5‘“4: 1' “'*'l'"— b "1':‘*" % e [3] |
Wil Weve sdeedive Baduesteg e g

N e wrd woal E...;:J
1f"hl‘” a.\"nl‘i.u 1- :i."l:i.‘r;,l}

Examiner comment — grade A

This question required the candidate to link novel information about the relative survival of bacteria strains
to the principles of natural selection. The mark scheme allowed only four correct responses for three marks
and this candidate was able to state that the antibiotic acted as a selection pressure resulting in resistant
bacteria surviving and passing on the advantageous alleles to their offspring.
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Example candidate response — grade C

_LUI'EA bmgﬁﬂ"ra e E.%Fﬁfi‘éﬂ}i@é[.h:ﬁﬂ e mm"‘-‘- oy 'f:La.,..\
e billed by Hoy ore w2 wﬂi whd hove dovelsped

cenvbeae hug ug;ﬂ:ﬂ Letler oloptel 6 +the Eﬂ**ﬂlﬂh«&‘f’

‘ﬁure e U'-t tels {L&h“’tﬂ#ﬁmfﬂ!f{}_ %Fmﬂﬂé
,,,,, o Thas cenutls

'-ﬂ vy mﬁ'ﬂﬁ' W Uruikﬁr:q#?/% Ao %%ﬂ. @ | 3
pequloc Totat: 16] |(F)

Examiner comment — grade C
Candidates sometimes lose marks by confusing allele with gene but this was not the case here where the

candidate successfully referred to alleles throughout and scored full marks.

Example candidate response — grade E

..E...m...hathhm..'@..&x.pmzd.-km..ﬂnhbmh:,.n_.smuph'bl,L :
s b ke bk M Wik soe skl ik meodio b
,K\.mkn.\rim.,mmﬂ.mﬁ&.i...:?:hﬁar.ﬁ,lvm.a...h.&qu.fe.m Sl pp....
..-.-L..H'LLLc]cm.q:u;j;.,.-....'.:;?..q.m.f...u.}.x.".-."....hﬂ.ﬁmm.ﬂ..:ﬂmm. ank.clat...
e no b obea. and. Somas. il nek. s due k...

e SRMecve. melrankosen .. . [3] \

Examiner comment — grade E
This candidate was only able to state that resistant bacteria would survive and did not really address the

question in terms of natural selection.
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Question 3(b)

{b) State the roles of mitosis and meiosis in producing an immature secondary oocyte. [3]

Mark scheme

b} 1 geminal epithelial cell dvides by mitosis ;
2 giving oogonia ;
3 prmary oocyte divides by meiosis | (o give a secondary oocyle) ;

4 idea of diploid to haploid [3 max]

Example candidate response — grade A

Mitosw. . hewps . the Awemanon, 0f toniup fon | e
qemun.... apithelial, | (UX. The ocogonum o all genetiodly

gimilay  and ungergs gewth | o Foped primany  oouge.
The......\akker... undergo. melosis 1 A0 for) séondangy

Obtgtes whish. 0k qenotually differenk dud o processes
like...indepeodent assotment. . DE.chamoioms.. d. Sessing, ovefs)

S

Examiner comment — grade A

This question relied on knowledge and understanding of oogenesis and should have been straightforward.
This candidate was able to achieve the first three marking points quite clearly. The only piece of information
not given was the reduction in the number of chromosomes during meiosis.

Example candidate response — grade C

Oegonda...sn... 0. female. 9o, under the mistie . divison.
10.400800¢, Saem, .. 0wl They . a6, qrow. igger. ..
qize. qad. 9k theo.. called. . primany. cooules These go under

the.. firsy. meiche. divisie-In Twhich o pelar bedy s
farned The second | metatie diision produms.. sicondary

LS

Examiner comment — grade C

The candidate was too imprecise in describing the role of mitosis by concentrating on the multiplication
stage of the oogonia rather than the more important role in the production of oogonia in the first place. A
correct reference to the division of a primary oocyte by meiosis was given but there was no mention of

reduction division.
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Example candidate response — grade E

Abcer.on
.n.nﬁm -m.,r.u:L.Hﬂ!ﬁ:..{}r'nmwra-.-mmgﬁtE..'Inmr.e....hm.m..i‘mx.mﬂc!

Maissis.. 1508 :ﬂa;ﬁ..."m._ﬂ ﬁﬂu_m.immtma.mmjﬁmzﬁl

-.'.s...,..‘mﬁmcsz,f.‘mﬂ.tn,uﬁ.mﬂ.k?ﬂ.m "t:almnm-:v%j ................. Ues

[

Examiner comment — grade E

This candidate was only able to mention that the oogonia were produced by mitosis. The statement that
meiosis produces secondary oocytes was too vague to score a mark.

Question 4(a)

4  The secretion of insulin by the islets of Langerhans in the pancreas stimulates the liver o
reduce the blood glucose concentration.

{a) Describe how the liver reduces blood glucose concantration, when insulin is secreted.

.................................................................................................................................... 3]
Mark scheme
4 (a) 1 bindsto receptors (on liver cell membranas) ;
2 conversion of glucose to glycogen [ glycogenesis ;
3 (because) insulin activates enzyme ; &.9. glucokinase | phosphofructokinasa |
glycogan synthasa
4  increased use of glucosa in respiration ;
5  |ncreased uptaka of glucosa | increased parmeability to glucosa (of liver
cells) ; [3 max]
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Example candidate response — grade A

........... Hhm.....’.‘ahse..é...{3,11..;.:.:.1....":mf..c__'l..__-_':.____'h_': oy Yhen Ba-\1o

et L Ealels : : ot Bin, mhih
\"“‘H }" t' "t"

ol

———

S’*ﬁ_"",}kﬂl!'lx}\j“&t“hhT:"!“-:}t‘:'"'*-"'**H\\L’""’-" [3]
i B orw Nem d3=mn ':I-_t' ':}\hl--anﬂ "-"ﬂ.t-h L.l'a-h.l }--:..‘1- 'Lu.n..l, v d Lal, .

Examiner comment — grade A

The candidate was able to give a good description of the effect insulin has on the liver in the reduction of
blood glucose concentration. It was good to see that the candidate had mentioned the binding of insulin to
liver cell receptors. Increased uptake of glucose by the cells and increased glycogenolysis were responses
that many grade A candidates would be expected to make.

Example candidate response — grade C
Slhe ddres sl in bhe Liv uif‘mﬁﬁ.\‘.ﬁﬁ n s bt fev e cells |
MF.E‘!!‘.EI....h-,{r.l‘.‘tn.nﬂﬁf.'i...:'.'.'!...F.ﬂ.i.‘.-!.'.-:'.n-,.ﬂ.na.l...jLu.i.nﬂmn-..ﬂuﬁnnmi:fﬂm.ﬁam.

ia. blosel S P L TR L ) Mh.r.n.ﬂ.lu.m.r..e,...cm.a_s .

.Tt"-'i’:.'._.Ir:..f.n.'-'.u.;ul'n...i.i....Fﬂ.d.H.ﬁ.ﬂ,d....f.Hm- akinj,...imu

.#.-f:-..gl.u.m.f.n-...nh:i..mw.ﬂwﬁnn...h-.jwﬂ...digm; add. Enarenkitre -

Konsp. alusors. leads b e goduchon. of. mere. .alucsanm
|=.ud-tnj Ejﬁ; JnLr-acaEﬂ.‘Jl Eﬂ‘ﬂ‘“‘f—l"‘ﬁ'ﬁﬂfi:F jljuﬂan |ri ‘jhuﬂt.e.% JEE] |

Examiner comment — grade C

This candidate’s answer highlights a commmon error which is to not read the question carefully enough. Here
there is reference to both insulin and glucagon and their effects whereas only the effects of insulin were
required. The candidate still managed to score two marks but time has been wasted.
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Example candidate response — grade E

O S T R R T VX R R P Ry S
g et L P Y - R T o gD A 0o IR0 SO ... B, KT e

e BRI T R R . = R Lt e S - drodig, FRL EX gl

L IR Bt £ L R P SRRRE o .ﬁ!,,,ﬁuﬁ.j;.-n..h;?:'.ﬁ.'ﬁ...{f.“"ﬂ{--ﬂ.f.fﬁ..ﬂm.ﬁ._..

RS mrih.  EE, OECCRR.... QAEER . B G lA AP B, .t e ERE s Vi

CBEERDE ... SRR .. il CACERER.., R AR s £, G ﬂmmmj,é[sj
Vi f.l'{',-ff"fﬂ.r‘ - O

Examiner comment — grade E

The answer given by this candidate shows how important it is to thoroughly learn what would appear to be
straightforward parts of the syllabus. The answer here is confused and contains inaccurate biology.
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Question 4(c)(i)

(e} Most people with iype | diabetes inject insulin. A recent product contains insuln that can
ba administerad using a nasal spray. Tha spray is inhaled and the insulin is laken up
through the lungs.

Fig. 4.2 shows the concentration of insulin in the blood plasma in the 480 minules after
injpcting or inhaling insulin. In both casas, the insulin was of the sama typa, oblainad
from genetically engineered Escherichia coli.

m 1 1
el : SR = . i . . __i
a0F- ; T s inhaled insulin £+
ERELTIEERREIIEIEE ©—0 injected insulin
insulin mﬁg. N R R b .
conceniration in ;é.ﬁ : : -
blood plasma mL A

{arbitrary units Eﬂ;&ﬂ st r qhﬂ".lmﬁigw THECFET

o HH e o : 1‘“1
10 ﬂ : . i

4
- REEEEEEE - SEEE RN .- SEEAREEEEEE RS-

=
8

120 180 240 300 360 4200 4H0
time after administration/ minutes

Fig. 4.2

Fig. 4.3 shows the concentration of glucose in the blood plasma in the 480 minutes after
injecting or inhaling insulin.

Eﬂl - HEE e -
i an TR TH 2 at
40 4= - 3 : £ # inhaled insulin &4
"k‘ : - @—o injscted insulin
glucose 30 : _______f i__ seaan:s _I 1
concantration in ____;h: A FE A H FEEEH
blood plasma } -
{ arbit units ' Sy
ra.l'jl' 0 &- - T : N ﬁ b
- ] ‘_ = I 1
10 : T
D 1 ] t ] (] 1
L] 1] 120 180 240 300 360 420 480

lima after adminkstration ! minules
Fig. 4.3
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(i) Compare the results for injected msulin and inhaled insulin shown in Fig. 4.2
(3]

Mark scheme

(e} (i) alstatements must be comparative
inhaled {accept ora for infected)
1 insulin concentration rises more rapidly when inhaled ;
2 higher paak ;
3 falls, more rapidly | earlier ;
4 (after 150 mins) lower (than injectad) ;

5 usa of comparative figures ; figuras for both at one time [3 max]

Example candidate response — grade A

As.Dme. a8 ad i ieabin neteues, dlesdipant, [T
toheled ing i Jnas. i) ,.,mﬁﬁrwbﬁ% blad
M.mﬁi 156 ot 4L ek heyloetme g ek Wiy
T beledicnlc boshe. Pl . covdhed o2 Hhar hibas, 3
. ﬂ:jr t‘.ﬁ:"* Efﬂrlbﬂb'ﬂ:?i&mmJnﬂhm#Fprjﬂh.

.Li.ﬂl:.‘fl&@fﬁ!ﬂh#ﬂaﬁmiﬁ A~ -n.,'al\wxlw’.}‘ﬂfﬂf%ﬂh&qi 8 !

erd Bmp Dhan Whe

Examiner comment — grade A

This question required the candidate to compare the concentration of injected and inhaled insulin in the
blood by referring to a graph. This candidate gave a clear answer using comparative statements and scoring
full marks. Credit could also have been gained by using figures to back up the statements.

Example candidate response — grade C

!AJ“-L-; {mca.,a;t;'fut:!an; " Lfmcla ,PE"FT"W ﬂpéﬂ""’!‘“l‘*‘l.ﬂ Uve
m;ut..u o L"ﬂi"‘” “&MM . m_;;,d-“l ingulen for
a*f"‘ff“?“'“"*"“l‘l’-b 150 paruches . Aple- - EL- d=

dediase ot becmes louer wuw'ﬁ[. ke .
\»:iJC- "'G'ﬁdﬁr L"nt.n.n:k“f&““ﬁ%ﬁu:l\ﬂhd ong LS I‘HI- I-'*LJJ'L

_kaLﬂ_ MJ{&!CIMHL l:‘l' 5”& 15 q.r!pr..b'aj' u-ﬁ*f[a} 2
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Examiner comment — grade C

This candidate gave two clear comparative statements which gained credit. The last sentence attempted to
use the data from the graph but was not precise enough.

Example candidate response — grade E
T T Oy YL T - T TR L Y L S

Matcdog.. TR, Lleal . 28 e gt B s et Fan e S B AR

"ttt
_.gbe ol T W .ﬁ-*-e‘-—r" R At fﬁi C)

,..»..5“ W o stvw s ,.if Py an.-.f; _ﬂ.m,,p.,;;.l.a’_.;#—-i

F 2R i, gy s g;rc,-fasn'q,d AAErrioel
W e s S esiain the hffarences In the blood o et g
injecting or inhaling insulin shown in Fig. 4.3. |

Examiner comment — grade E

This answer is a good example of a candidate not following the command word of the question, namely
compare. Here a description of the concentration of inhaled insulin was given followed by injected insulin.

Question 4(c)(ii)

(il With reference to Fig. 4.2, explam the differences in the blood glucose levels after
injecting or inhaling insulin shown in Fg. 4.3. [3]

Mark scheme

fii) 1 glucose conc, is linked to insulin conc. |

inhaled [accept ora for imjecied)
2 (initially) glucose falls bacause insulin conc. rises ;
this subsumes marking point 1

3 glucose conc. falls lower because insulin conc. is higher ;
this subswmeas marking poinf 1

4 (later) glucose rises higher because insulin conc, Is lower ;
this subsumes marking point 1

5 useof figures ;
a.g. one glucosa conc. for inhaled and one for injectad at gna timea

or
one glucosa conc. linkad to an insulin cone. at one tima
(either inhaled or injacted) [3 max)
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Example candidate response — grade A

L’” f-nCF-’fﬁ-fﬂ?- «ﬂhﬂﬁl w“ef{w b mare, -.ﬁuﬂ_?‘:g r’.'-f.ﬁm'. ..... 3
!%%Mfm sz@ﬁ..md Hhean., m@ Lormisp. o o W‘?

++ a {#u:;uv-ﬁ

Examiner comment — grade A

This question required a high level of analytical skill from the candidate. The relationship between two
graphs was required to answer the question which this candidate did very successfully. A link between high
concentrations of insulin in the blood, in one graph, to reduction of blood glucose concentration in the other
graph was well made. A further point was also made of the reverse effect later on.

Example candidate response — grade C

J'p.u.ﬂ._-_mﬂ:....n....ﬁx.a.ntw ::'L:u._[:l A.h ,ﬂ:‘” Ll k.. o een Bt bien

o bhe ..F-i.hr..b‘....I-f.'t,.nﬁm.‘::ll-...im....’..1.hﬁl.l.d.,,.£niu.lnt.ﬂ...'|:'jﬁ

Sndankitd. anbocdin g et et du e b

s inholed iniibka.da blond. glasma: e increatsain. glucaie E

__rz..n.nm,nhmkﬁp.n.-.x.f..ﬂnmh:u..ﬁ:: L.{;Lt.— 4 qhnii‘{ oSl ha
nt—E—nEﬁ‘—Hﬁ L]

.’LE dmL A, ot Y P [-l-ﬁLfJE' oot m&ﬁ#-tﬂ#.....!.m-dnn remadned [3]
Foirby cont Fanb ia -F""nph[nd {1 |l me -

Examiner comment — grade C

This candidate made a good effort to link the two graphs and was able to show that the greater initial drop
in blood glucose concentration for inhaled insulin was due to the greater concentration of insulin in the
blood. Comparative figures could have been used here to gain the third mark.
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Example candidate response — grade E

%kf._mﬁf,riiﬂ.a...mﬁu!}.m...f.tf.u.u.'!,-'.r:a....F?’.'.E*:'.!.‘E*.-!?----ﬁ.?ﬂh%&}.---.-

..... ......I?.’I.?:fﬂ_é‘si..J'....J}En-e.'ﬂ......,l.?l?.m'.l...g":.!ff.é%‘.-..?E..*..{-f.lf%____g_iﬁ_ei.lf_n_te '-

but..hot. ... mhaled drease sharPly: €0 fo 0 pin
sl tevels. decesse. €Ml ol Bt of fohaled

WXR0sEs. Shar gy ot 2407360 nins. . sabeceas Mool |
m_xfﬂfr:}wf?ﬂwfaﬁﬁ“:jz )

Examiner comment — grade E

This answer illustrates the difficulty of this question for a grade E candidate. One general mark was
achieved for linking insulin increase to glucose decrease but no explanation of the differences was

forthcoming.

Question 5(a)
§ Hica, Onza safiva, is a staple food in many parts of the world. Rice is often grown in fields
that are flooded with water for pant of the growing season.

(a) The roots of young rice plants are highly tolerant of ethanol. Explain how this helps them
1o survive when the fields are flooded, -

Mark scheme

5 (a) 1 oxygen availability low (when soil is flooded) ;
2 plants cary out anasrobic respiration ;
3  ethanol producad ;

4 roots can continue to respire ;

Example candidate response — grade A

g '?fftm.m.mf?ﬁ#...ﬁ;f:nfmaﬂjﬁ{ m.'ﬂ:lhm. 2

Examiner comment — grade A
The candidate displayed good knowledge in relating the ethanol tolerance of plants in flooded fields to the

anaerobic respiration carried out by those plants.
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Example candidate response — grade C

Ihe roots mecp use of Hus ethonol and Convert (F
--bs:.!.f;i';mw RYMUM S .. ughith they will use in fhe  Kieks
c;:j:;le Prqujde them with ATP. This SNRCgy... *hﬁj S use

....... . Oshue. upiake. Of. Jons and energy jn skeir slls.

Examiner comment — grade C

This candidate has completely misunderstood the question as the answer has attempted to use some
biology to show how the plants can make use of the ethanol; unfortunately this is inaccurate.

Example candidate response — grade E

Hﬁ\q')"r“‘s:wg. LEL!"ET}E "I.Eml; AL Y -
vimg e "r"l"l‘; air , P -n-'.-t;,lurﬂ

el ont. ftlease. e, Manksr, q»sk_‘h!!.L "Im;.wq L LT o
Sﬂ.aLm,.mh.mh..HLan..’!.F.'l.:ﬂ.m..k.m.._k.mlu__}_n..mmﬂm_um ,,,,,,,,,

Qﬁtjfjtﬂ‘ b42] @

Examiner comment — grade E
Unlike the grade C candidate this answer has avoided the question by describing some of the adaptations of
plants such as rice growing in flooded fields.
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Question 6(b)

(b) State whather the likely lfe expectancy is high or low in West Africa for individuals with
the following genotypes, In eaach casa give a reason for your answer,

Mark scheme

(b) marks for reasons only
Hb* Hb"

low — susceptible fo f die from, malana ;
Hb" Hb®

high — no (full blown) SCA. / have SC trait ;
not, suscaptibla to / likely to die from, malaria :

Hb* Hb*
low — susceptible to / die from, SCA ; [4]

Example candidate response — grade A

HOAHEA .o 122 1 ESL 0L p:'.i.mﬁ_-ﬁ___._..-ﬂ.ﬁ-. ,.,sa-..,,.L&f.fﬂ....-:'.am !

comnbmzabebinn S A hea i Satep b\ Yo meladl

Hb*HbS h*&H"&.hiﬁh{!'—hL*:}” 24 LU"F
oBre Tesisfent ¥s acoluclo e d e ¥oAlC

HBSHbS ‘Lﬂ-—‘*{’auﬂﬁmt}ﬂ“\t&”t

ohikely Yo Ale | Sl SiekMe el sn sl
LR ":-l..-hl;'_-.:'l -th-.q'l:u‘.a llt" \'\uuqﬁt"h;ﬂ 1- t"""l'lj E‘.L "

Examiner comment — grade A

The candidate has made the link between the genotypes given with the resulting phenotypes and then has
been able to explain the life expectancies of the three individuals.
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Example candidate response — grade C

Hb HDA .L-'.I:.E.E..,ﬂ-rﬁ.ﬂ‘.ﬂ.i‘..'ﬁ.n-.ij...ti...[:_n'ﬂ‘..'.....T.- et :hm&nﬁujm

..Hirz:ﬂl.---ﬂu.lt.q.H.b.i.l.....t!...m.ﬁ.[nnﬂ.
HE*HBS . Ln.!:.ﬂz._.a.rlp n..r.t.n.nﬂ!j. £5. .E'.«n'.&la. ..... 5 'L-u.j Lpvafrin,
spbekhoalledes maled .ﬂ:ﬂ.,.{'jﬂm...if.ﬂﬁr{.l.!;;h!i ....... malaria.. and. able

B lead Sorermal Life .
Ht:cEHEJs -L-ij.-hm;:.... s X gck‘n.mf_‘j.a.:'f.hj-mm-m.-,{!:mﬂ ........ S

.--1'..‘nl:j...m.h---hnm'?ﬁ,j.&HJ....{EE..;E:'TLA...H:HLLLU. [4]

)

L\

Sekle.. 5
allaie-

Examiner comment — grade C

The candidate has successfully explained the life expectancy of the three individuals but has not realised the
significance of the heterozygote. The answer states that the individual would be resistant to malaria but not

that they would not have full blown sickle cell anaemia.
Example candidate response — grade E

HEAHBA ..\ &:A...ﬂ.ﬁ.?ﬁ.ﬁkﬁiﬂ@.flj...hlﬂln\?é.ﬂﬂm.t..ﬂ‘m.y..mm. ........
.hm—:,ﬁ%my_s-.,.m:l..cl,u.r:.d;..kmw.ﬁ.sn.dm._nm.nmm.m;m_m:uﬂﬁtq
Hb*HbS ...“::'k.'l..tj'i.—;....f".i{ﬁ....Empn?,c,‘t-.nm:;j)...hﬁ.:;m.uﬂ.ﬂ..?ﬁi‘hmr.m...s..n;;.i_U.._hz /

.En.rm‘mf...."r:u,ﬂl:-m:::."!:.,.,Eﬂll.jj...:df\"}aanhﬂx;'l...hh.},xis..hh.tﬁﬁu.::u.r:m.nm% “
HosHES . b2 Yorcanne. oF. racatsive. AW, bex. siclcle catl .

..ﬂm‘.i.'r:.mim...m“r.'ﬁs.l':'.-.:..uilLLm.Mme:lﬁ.J‘;ﬂ..ﬁh&"bmhu':fmm.x::.}:':. ;[2-} [

W L Py

Examiner comment — grade E

Here the candidate has not fully understood the significance of the link between the HbS allele and malaria.
The only correct answer refers to the heterozygote not suffering from sickle cell anaemia.
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120

Question 7(a)

7 An investigation was carried out into the effects of a plant growth regulator, auxin {(lAA), on

apical dominance.

* The apical buds of 20 paa plants wera cul off and discardad.

* The cut surtaces of 10 pea plants were coated with an inert paste containing auxin.

* The cul surfaces of the olher group of 10 pea plants were coaled with the inerl pasle

abone.

+ A fturther group of 10 pea plants did not have their apical buds removed and were not
coated with paste. This was a control group.

The lengths of the side shoots of plants in each of the three groups were measured al regular
time intervals and mean values calculated.

The results are shown in Fg. 7.1.

1 ] ]
I
110
! i
100 ] T
40 !
80
y i 1 pasle
mean side 10 alone
shool length .
fmm ] ! |
] 1 1|
* |
4E I*
a0 i Fﬂftﬂ
auxin
= g |
; : conrol
10 [ " 1 » A
1 ! 1Al 1]
1 1 T
c IIrIIIIIIIIIIIIIIIII|IIIII:IIIIIIIIIIIIII:IIIIIIIII:IIIII
0 2 3 4 5 & 7 B 8 1 11 12 13 14

days after treatrment

Fig. 7.1

(a) Explain why the side shoots increasea in length whean the terminal buds are removed.

Cambridge International AS and A Level Biology 9700
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Mark scheme

T (a) 1 apical bud is source of auxin ;
2 auxin mhibits growth of side shoot ;
3 remove bud and auxin conc Talls |

4 this allows ggll, division / elongation, o take place (in side shoots) ; [3 max)

Example candidate response — grade A

n\*"“*-‘f t ""“-1"\!--1* Lise

The iesence obdn ﬂ?‘iﬂlhﬂ;ﬁ-‘ef*“"“-""
\

o i.!.‘-.‘.m...y.f:.:‘:}.ﬂc}...:.-.-f".':".?‘.‘..'.-.'.'.‘...-..ﬁ.ﬁi-.'é.?:.'.,..-,-.

had s temsved  Ang tonceatealina o

.,.........E‘.*..'.:'..r..“:....F..::x:-:-.?.'.::ﬁ...-.i:'!r.::....ﬁ?x.@:&._.:‘a!t-._?.n..i.‘_a_-.-.....'i.'..*..-.-:::'.:%,:’,L,&,?..t-,.,.,... 3
............... LT W L OO (-

Examiner comment — grade A

Answers to this question needed to be very precise to score full marks. The candidate has achieved this by
clearly stating the source and action of auxin plus the effects on auxin concentration if the terminal buds
were to be removed.

Example candidate response — grade C

Fvﬁh;mmrnrﬁnlﬂ[ﬁra%mw? A% hopca..

Examiner comment — grade C

This candidate was able to show that the auxin concentration would fall if the terminal buds were removed
but did not explain why this would cause the side shoots to increase in length.

e PAST PAPERS
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Example candidate response — grade E

Arcomaol.. Jouds. semaoved.manss thok Yoo std 8. N

....E‘hmnﬁ...m.1','-.‘!....Hﬁ.ﬁxmﬂ..:himw.ﬁ..wﬂﬂ.kmj...E'.J.‘.q. .................
Lremeyad PAMKIOS. SR gl EhE, e olanks. Lo

........ TOHR. OORCE. LR PSS A0S, SO Gaeanr .. OF..

...... En&ﬁmmﬂa ,)’iﬁ

- 3] (D

Examiner comment — grade E

This candidate’s answer illustrates a common error which is that auxin promotes lateral growth whereas in
high concentrations it has the opposite effect.

Question 7(c)

(e} Using data from Fig. 7.1, describa and explain the affect of auxin on the growth of side
shoots. (3]

Mark scheme

(c)
D1

E2

E3

D4

D&

days 2fo 8
no increase in length with paste plus auxin (comparad to control) ;

auxin moves from paste into plants ;
inhibits growth ;

days 8 fo 13
incraasa in langth occurs (with paste and auxin) ;

less auxin laft ;

supportive figs ; e.g. two blua points on two days plus units or ona red and
ona blue point on zame day plus units

must have at least one D [description) and one E {explanation) to score 3
marks [3 max]

Q PAST PAPERS
INSIDE

122 Cambridge International AS and A Level Biology 9700



Paper 4 — A2 Structured Questions

Example candidate response — grade A

) ST WS LSS YT (3 B :ft": L":‘:-.&-*E*""“th*&“-»

8 D

i Vi b E_u !":,1!1' B !:

chmbiaiboapplied o Akt Side sheed leW

rtreemcy Anoesehanl ="L'51-aa’r"‘bw
A 3]

LS L L T

RN SEATELVCIPNE | S AT S LS XS P
Shos by 4F 1AM TS

o (N L L nLEEr\'-'Ll. : padtenn Ifr'
s b onerins i E’,

'l:_'ll"it.f.ﬂt" q.t-. 1 m

U B Sheals

Ys 3**"'

Examiner comment — grade A

The candidate was asked to describe and explain the effect of auxin on the growth of side shoots. This
answer scored full marks because valid points were made that included at least one descriptive marking

point and one explanation marking point.

Example candidate response — grade C

Pogrr, a3 B greeth o6 ade shests a7 ae
e scom v, Dt planks wikepacke 4 aacel Thas oy
Ao Gude, sheatS of B0, wolalsk l:’&-iie plagls
ook nu.rmm _eyew sde _-,LM-L T LT Pe ¥ |
m&ﬂl m Lt-ro'ls'm‘wt_ "N»&\"‘ barce sida shack gyandh wag
el My gomde_comdh_demaoncs, o |
G |@f

Examiner comment — grade C
This answer only obtained one explanation mark, that auxin inhibits the growth of side shoots. An attempt
was made to use the figures from the graph but the wrong curves were compared.

e PAST PAPERS
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Example candidate response — grade E

"L— Lf SN W YT 0 "s'hmn ":iln.m"? AASAXIN PIRONGRRS, ngmwrh
”? Sl mn ...E:I?!.T.'.....:'E.mm;\: pm‘kf. L SR,

=Ta \jmg‘ﬂhwhﬂ‘;lfefﬂm}{

duﬂ

Examiner comment — grade E

This candidate has assumed that auxin does promote the growth of side shoots because of the rise in the
curve for paste plus auxin after 8 days. No comment has been made about the lack of growth during the
first 8 days which contradicts the candidate’s statement.

Question 8(b)

(b} Photosynthetic pigments are arranged in photosystems. There are two photosystems,
P51 and PSIL. PS1takes part in cyclic photophosphorylation but PS1I does not.

Chutline the differences between oyclic and non-cyclic photophosphorylation,

Mark scheme

(b)
1

Ly kX

&

cyclic pholtophosphorylation
elactron emitted retumns to, P51/ same photosystem or same chlorophyll
moleculs |

non-cyclic photophosghorylation
elactron emitted from PSII absorbed by PSI ;

reduced NADP produced ;

photolysis occurs ;A splitting of water
(photolysis) only involves PSII ;

oxygen produced 3 max
accept ora for cyclic for marking points 3, 4 and &

maik lo max 3 If eyellc and non-cyclic are described the wrong way round

=/

124 Cambridge International AS and A Level Biology 9700
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Example candidate response — grade A

(b) Photosynthetic pigments are arranged in photosystems. There are two photosystems,
PS1and PSII. PSI takes part in cyclic photophosphorylation but PS1I does not.

Outline the differences between cyclic and non-cyclic photophosphorylation.

0 ydie, photopinosphevglation, only B4 AL & involved
the..emitted. . sledhons rebum. to 828 01V 0seif  while.
AN Nen-cydde photophosghang oo gletont ited by
PAT U wed wﬂﬂmwFnycﬂﬂd“infnaﬁwmeé

h:lﬂamﬂmﬁﬂmi"‘/b\‘olﬂ&ti;%mmhﬁ”
.and......reduced | NADP %Pmdﬂtaﬂ in nhl‘)—l';,l&l;!u.sm.,.......... .

Examiner comment — grade A

This candidate has produced a clear outline of the differences between the two types of
photophosphorylation to score full marks. It is worth noting that the mark scheme has an internal maximum
of three marks for non-cyclic photophosphorylation so, in order to score full marks, a candidate must

comment on both processes.

Example candidate response — grade C
I

{b) Photosynthetic pigments are arrangad in photosystems. Thera are two photosystems,
PS1and PSII. PS1takes part in cyclic pholophoesphorylation but PSTT doas not.
Outline the ditferances batwean cyclic and non-cyclic photophosphorylation.

.E@%L....ﬁhﬂiﬂ%ﬁk@ﬁ?ﬁ‘lﬁ lahon, LatﬂpﬁInnlg}ﬂndnq‘-rF‘Sﬂ

ﬂg_(_ep’mﬁ,i.ﬂw:l i 3 ﬂ-rn:l #:rcr;lum_s F'I-TF' EL%Efjjh_lm I dees
act ‘.P(r:duu_ NAM but noa- ijCLtC Phﬂ?h"dfé; Non.:.
BMS. Pmt:u.pm%ar_ﬁmmnmua&a._.F.’_%,L_..gm:_!..[?.%'i]l..-...._T... e

. 14 ]

Examiner comment — grade C
The candidate has started the answer by repeating a large part of the introductory information; this is both

unnecessary and time consuming.
e PAST PAPERS
INSIDE
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Example candidate response — grade E

(b) Photosynthetic pigments are arranged in photosystems. There are two photosystems,
P51 and PSII. PSI takes part in cyclic photophosphorylation but PS 11 does not.

Outline the differences betweean cyclic and non-cyclic photophosphorylation.

= Von.2: fff;.‘”'"{i A 5. mchema... 4.;.:“/;': oo
isd ;’%ﬁf—’ JM{Q “n {fﬁ’.ﬂ.—.:s:-,ﬁ.{{ff;-......f?.ﬁ::-'.ﬁ,,...::f.a..-:-’f.. e
iz /’4;? r‘é’ﬁﬁéﬁ.ﬂ ised. f%ﬂfﬂﬁf:fff’}ffmé;fﬁé

=Rt aek tovaleed. 10 cadle.. ivalvad ..

. [4)
Examiner comment — grade E

An attempt has been made to list differences between the two systems, which is a valid way to answer
such a question. However, none of the statements made were credit-worthy

EQJ PAST PAPERS
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Question 9(a)

9 (a) Outline the behaviour of chromosomes duning meiosis. (9]

Mark scheme

8 (a) odonofcredit marking poinds oul of seguence
prophase 1

1 idea of condensation of chromosomes ;

2 homadogous chromosomes pair up / bivalent formead ;
mefaphase T

homologous chromosomes f bivalants, line up on equator ;
of spindle ;

by cenfromeras ;

Independent assortment / described ;

chiasmata / described ;

= =~ o Th &

crossing over [/ dascribed ;
anaphase 7

8  chromosomes move o poles |

10 homologous chromosomes |/ bivalents, separate ;
11 pulled by microtubules ;

12 reduction division ;

mefaphase 2

13  chromosomes line up on equator ;
14 of spindla ;

anaphase 2

15 centromeres divide ;

16  chromalids move to poles ;

17 pulled by microtubules ;

18 ref. haplodd number ;

aflow 4 or 14
allow 17 or 17 2 max]

Q PAST PAPERS
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Example candidate response — grade A

2. |
@(ﬁ_}ﬁw’?ﬂi"ﬂffi 47 W“-’I;ﬁum 4 170 S

.,.E‘rf:.m.mjamm_.ﬁ ! Figﬂrrﬂi?g’fmlu.?éﬂmymﬂlﬂ ¥ ‘
‘ﬁmgmgﬁ?ﬂﬂ%m?ﬁﬂfmzﬂmﬁﬂ REeE .
Mﬁﬁi*ﬁf%#aﬂ;%&radznmmaa&e{'ﬁfhm%mw
.Qém.nﬁ#iﬁmﬁ...émm&b?ﬂ .fv!i;l'.'ls’.r.'n...':*..ﬂé?.fﬂ..ﬂ.ﬂﬁ..mﬁ.mi.......-....
ﬁ-’f_.ﬁfdmffm Mmj'%«maia?.rmﬁ%%
ﬂi&aﬂﬂg@Jhl*ﬁ:m*?'}:frﬂmﬁ'&é?&cﬂ{wﬁiﬂmL

‘4+ﬂ‘lﬁ7’és. £ B s Tl r-f—rf' s, wasa s Llne ol

f“’{/é:q’l{ﬂf’ /Pni?ﬁ”{ : fﬁiﬁﬁ.ﬁ@m&mmm
..:'sh..._j'.;;.‘rﬁ]rg. o r’n?fﬁ.?naflnm&!h{rﬂf}%"f‘ MIE&?
‘f“ﬂdﬁédgimwﬁévrmwwafﬁw f}'ﬁiﬂm—ﬁﬁrnfg
%W"“#A‘k"’l—ﬁ-—hg#ﬁ?ﬂh‘.ﬁ’iﬂ?ﬂﬂ{ﬂmjfmaﬂrrhﬁdm

gzglmm.ﬂ,ﬂ.m.ﬂ{..:ffin:.... oAb A e - dbeGpionltn it ...
Ao phese T M Condramse ngfjjuﬁ{

chamadid to o fﬂ&ﬁfﬁfﬂfbﬂiﬁrfﬁéyhﬁ#ﬁ
ﬁfuw;mgbﬂélm; fﬂfﬂiﬂfiﬁﬁ(&.si}%fﬂfﬂfn

Examiner comment — grade A

This free response question asked the candidate to outline the behaviour of chromosomes during meiosis.

The answer was very well written and scored full marks due to the clear way it was presented. The

candidate had learnt the topic well and could visualise the process in order to describe it in a sequential way.
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Example candidate response — grade C

qﬂﬁuﬂﬁgPmmqaalw#rel#mﬂhcdfrslﬂ“jﬂva
daromesgmes. Shorten and  thicken and ihey become visibie
Mnder. g, Lght. micrescepl.. ANA teph artion 00D dunag............
Youg pras®Sand the, chiomesomes. e viskle as dwo. .
chemands... beld fogether by o anmomers . Homologous..........
dumm{:-‘:-cm%?mr“{q’;dhnﬁlﬁ#ﬂﬂﬁfﬂrmac*c'ﬁ%mg
mﬁrﬂmmhﬁ’éﬁé}umwwﬁﬁiqmedmﬁhamhdwmmmf‘
.E;Iﬂﬁﬂl---ﬁ--.9...Fﬁﬁ;ﬁ.ﬁ,.,ﬂ:ﬁ;&l“._&ﬂﬁ...mx..ﬂ.'igi.ﬂﬂﬂ.iltl..:.t_’EE-.-.-._f!:-!«".:...,ﬁéﬂ!‘.ﬁ?‘.lﬁé_-“.
epico dnd move to cpocie odes of the cll . After this .
phasg... 5. metaphose, L. bunng. Hhais_ prose Advomesemes .
Ne.on. the equaier. o8 the ah Sendie hinms form with .
. chaamssems...ne. 6. Foe.somelle. st fhe oo - Esters.
ase ferm. o Ihe nucear envelope. Gnd  niedecius  weould | have
dﬁ-p@s(:{ﬁhanempwﬁMdhiﬁ«ﬁmw‘fﬁ%e
chromesames. e, pulled. 19 oppcere fpcies, ntomees | Arst, The

Fwﬁlﬂei&h‘aﬂ“d.ﬂ%#mfgﬂh‘m%dﬂw@ﬂ“dsi:’":fleﬁbﬁ
,ci.amyecs,mﬁ'@’lwh&at*rhaﬁ{Lﬂbw%m'rhHﬁmwﬂsm R

the tee wll and tsleuds | te entotmesss, Meisak. The ..

gecendl  weiohc dwision (pllowe. Metaphose octurs and [ R

spindlg. fimes, are formed oith chromosemes lining af
I

Hhe. eanete?. They now  appear as chreaohids and dunng

anaphase,. theyhare.. puliesl.. 10 ppos e, poles. of e, sl ...
Jeading to_telophage | where  four doughier alls ate ..

pndumtlerﬂﬂmhmﬂ*@hﬂ?‘mdmfrﬁf’/w ;
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Examiner comment — grade C

This candidate’s response was very similar to that of the grade A candidate and was very clearly written.
It is useful to note that grade C candidates can score high marks in these types of question with thorough
learning and careful planning.

Example candidate response — grade E

- T

e

R I v N SRy P S - T = T JR o R
T e e By i 6 ok [ Pt _fa  Pro pp.-.-—-f" el gt g .&nﬂf A _d,.u..’m
...Hﬂn‘.’.ﬂﬂl& (=] Lot R TR RN LR - S R~ O L - S Beg 7

LR A CA . ... T W R S LA o S S .-:-.t#-ﬁtﬂéﬂh.‘ﬂm.ﬂ.

]
et UL B T RS P P et N R S T P

- S of 2 dew..... P L F o Lo ot ST o . B AP S - S B el e R et

..... BRALE AT BAEER NG o ... LA bl LGt A TR s,

..... H-.;F......H.ﬁme".:ﬂ......ﬂ;ﬁﬂmﬁnﬁ.am.ﬁ-.‘:.....h:,.....ﬁﬂ......ﬂﬂmﬁfﬂff&..:ﬁﬁ._‘h&f
AR Al s O BB 1 P LBPRE S .1, 1 A1 TEAD . O GO
ol o S LN T30 S P et 3 Y ) S ey Sy - " S

s A s sr s B LRI s T 1 G ORERIR AA.. BE.. Hn Aee®

. K. peputeiis. L ME . 0Lt . eSO, Al

....... A e et A1, TR

AL B CRARRRE i Er 1 0 RERL ..., 01 R AL

oottt ot S B Bl ... ﬂmnpjmm...-.-tw% Tt SRR

;hrﬂmﬂ#jfﬂn;emrm.-rwﬂﬂ"#qﬂmrmm
_...Kﬂ.ﬂ,ﬁﬁdmff.ﬁ..-.,;...ﬁ'rﬁh,qﬁm.ﬁu’.......Eﬂfﬁ......,iﬁ...--tﬂdﬂn‘h ..... fond s e R ... '?—-

s R, T b e AT s LA R 100 AT T VX PP Y O - X < SR

..... m&ffk’q?
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Examiner comment — grade E

The accessibility of this question is shown by the good answer given by this grade E candidate.

Question 9(b)

(b) Describa the ways by which gene mutations can ocour, [&]

Mark scheme

b) 19
20
21
22
23
24
25
26
27

change in, base / nucleotide, sequence (in DNA) ;

during DMA replication ;

datail of change ; .g. basa, substitution / addition / delation
framea shifis / AW ;

differant /| new, allaks ;

random [ sponlaneous ;

mutagens ;

ionising radiation ;

L radiation / mustard gas ; [6 max]
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Example candidate response — grade A

.................................................................

___1_..5.‘: ______ Cﬂ.«IA e weé....l?a...bﬂﬁ...ﬂ S & e delel

Guuswﬁ a.ame —ase 2 mbiubin,.. mtiaf‘rhj
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Qm? . ;f?qrﬂ?e 69 lm&e.r da. iLe il‘ﬁﬂ QPRH\TJ {:he

mehie,. J;'E Aemser, ;:?ht"lﬂ OAREB

L ﬁ,r}rhr?:r, 'bht’ ;ﬁ}%merﬁﬂ ‘.EE famne, “f—téﬁ- b, -LI"*"— 'F%F‘f’ﬁ"!
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‘P’l tﬂ)@fﬁt F%L}MM ﬁfﬂmh T
{thﬂﬁfj ﬁi’fﬂd}xdﬁ(ﬁ ek Jte"b"'fj -‘—b" YSE"(’H “-’Et-ll"ﬁ 'ill"'-fﬂ
r..,hah e 2S h:-re{.& as 3. ‘i;ﬁ"bqf ﬁl I;J?hft -
...... o Q’Qef'e«i b Lol iﬁm’e«f Honchion 0 I“nr'fe
et b g ST, ot . indreliced 'PJ{:MJE han..
R ia-.a:.&-xp lett .. and.. ‘hhwﬁﬁi&u Sti]'}
____________ Sichdlecoll ansaoia s cassed o s meTebi
Jc:} lonse subdbibbion e asdnee rﬂph!':ﬁ'ﬁ.--.t'}.bmmﬂ......
B b:piﬁnzfv b e ﬂ 5
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s 3
= 1 E,b(ﬁ"'-i "\?.(n{ﬁ"- R

Examiner comment — grade A

LIL

This carried fewer marks than part (a) and answers required more precision. This candidate scored four
marks early on about the ways that gene mutation can occur but then gave a lot of irrelevant information

Q PAST PAPERS
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about protein synthesis and the consequences of gene mutation.
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Example candidate response — grade C

L
S T T E LT T T T T T | 1,
s

[

(). Sere  nukakans LALECS L’fmmﬂ 56
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AR AN .. nﬂﬁﬂ AT g le B oad.
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ﬁmsfs:sm S SE S Lo M{td.q,
kamn \ﬂ'“ El\:wa AT HQUT'&C{:J! ﬂ.nﬁ.ﬁmm .....
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adde sl Thoged  me ved Hhé....s.e.ul;
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Examiner comment — grade C

This candidate noted that gene mutation could be due to base substitution but wasted time with
unnecessary information about sickle cell anaemia.
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Example candidate response — grade E
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Examiner comment — grade E

The candidate has not really tackled the question properly and has simply listed random statements loosely
concerning gene mutation, several of which are incorrect.
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Paper 4 — A2 Structured Questions

Question 10(a)

10 (a) Outline the nead for energy in living organisms using named examples. [9]

Mark scheme
10 (a) 1 ATP as universal energy currency ;

light energy needed for photosynthesis ;

[ v ]

ATP used conversion of GP to TP ;

ATP used to ragenerate RuBP ;

(energy neaded for) anabolic reactions ;

protein synthesis / starch formation / trighycende formation ;

activation enargy ;

o =~ 3 & B o

(activata) glucose in glycolysis ;

e

active transport ;

10 example ; e.g. sodium / potassium pump

11 movemeant [ locomotion ;

12 aexample ; 8.g9. muscle contraction / cilia beating

13  endocytosis [ axocytosis /| pinocytosis [/ bulk transport ;

14  temperature regulation ; [ max]
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Example candidate response — grade A
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Examiner comment — grade A

This question required the candidate to think synoptically and bring together various parts of the syllabus.
This proved to be difficult and many candidates found it hard to score more than a few marks. Three marks
were awarded to this candidate.
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Example candidate response — grade C
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Examiner comment — grade C

This candidate has tried to cover many parts of the syllabus but the examples given are too vague and many

are not of A level standard.
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Paper 4 — A2 Structured Questions
Example candidate response — grade E
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Examiner comment — grade E

This candidate has made a very similar attempt to the grade C candidate, with similar results.

e PAST PAPERS
INSIDE

Cambridge International AS and A Level Biology 9700 139



Paper 4 — A2 Structured Questions

140

Question 10(b)

(b) Explain tha different energy values of carbohydrate, lipid and protein as respiratory
substrates. 8]

Mark scheme

(6} 15

16
17
18
19
20
21
22
23
24

idea of lipid = protein > carbohydrate { AW ; A lipid has more energy than
aither protain or carbohydrate

comparative figuras ; a.g. 384, 17.0 and 15.8 accapl any two
kJ g / per unit mass ;

more hydrogen atoms in molecule, more energy ;

lipid have more, hydrogen atoms [ C-H bonds ;

{most) energy comes from oxidation of hydrogen to water ;

using reduced, NAD ! FAD ;

inETC ;

detail ol ETC ;

ATP production
[6 max]
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Examiner comment — grade A
This question was much more straightforward than part (a) and the candidate was able to give a good
comparison of the different energy values of the three respiratory substrates. Full marks were awarded.
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Example candidate response — grade C
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Examiner comment — grade C

=
>

This candidate made an accurate statement about the higher energy values of lipids and did link this to lipids
having more hydrogen atoms and more C-H bonds. Credit could have been obtained by further detail regarding

the use of lipids as respiratory substrates.
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Example candidate response — grade E
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Examiner comment — grade E

This candidate has given a brief description of each substrate in turn with little or no explanation for the
differences in energy values.
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144

Paper 5 - Planning, Analysis and Evaluation

Question 1(a)

1 A student noficed that the leaves on a plant growing close to a wall had two sorts of leaves.
The leaves next to the wall were in the shade and looked different from the leaves on the

sida away from the wall that were exposad to the sun. The length of the internodes on the
stem also looked diffarant.

The studant decided to investigate the differences by measuring some features of 30 leaves
and internodes from each side of the plant.

Fig. 1.1 shows the: leaf shape Fig. 1.2 shows an internode

g
A .
imtarnode ™=

Fig. 1.1 Fig. 1.2

Table 1.1 shows the student's results.

Table 1.1
shaded leaves exposed leaves
meaan intarmaoda langth £ mm 2314 153
mean surface area of leaves / mm? 2750+12 1800415
mean mass of leaves / mg 50+ 8 6010
mean leaf surface area | leal mass ralio BE519 30+6H
rate of water loss / mg mm—= b 50+11 B85=12

{a) (i} State the indepandent variable being investigated.

(if} Cutling the procaduras the student could usea lo obtain these results. [8]
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Example candidate response — grade A

(a) () State the independent variable I:IEII'Ig investigated.

M%@:&P‘Lsﬁ: ?{Eﬂ 0

(i} Cutline the procedures the student could use to obtain these results.
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Examiner comment — grade A

(a) (i) This answer was typical and incorrect. Although it was recognised that the source of the leaves
was relevant, this concept was not followed through to reach the correct conclusion that it was
the light exposure or light intensity that caused any observed differences in the two types of leaf.

(ii) The answer gained the maximum number of marks for this section and exemplifies the expected
approach. Each aspect of the leaf measurements shown in Table 1.1 was addressed and a suitable
method by which the results could have been obtained was described. The suggested methods
were not always fully described. For example, to obtain the total surface area both sides must be
included, this answer only explains how to calculate one surface. Similarly, the answer refers to

using a weighing scale to find the mass of leaves, but does not consider that dry mass would be
more effective.

Example candidate response — grade C

States tha independent variable being invesligated.
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(i) Outline the procedures the student could use to obtain these results.
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Examiner comment — grade C

(a)

(i)

(i)

This answer shows a misunderstanding of the difference between an independent variable and a
standardised variable. The answer is effectively repeating the information given in the question in
the introduction to Fig.1.1 and 1.2.

The answer shows the expected approach, but the methods described for measuring the various
features of the leaf are not, in all cases, well described. The answer refers to cutting internodes,
but does not suggest how this is standardised, either by selecting the same height, same location
on the stem or any other suitable method of sampling. The method described for measuring the
surface area was incorrect. The formula of L x W = Area is suited to a square of rectangle. Using
the formula for calculating the area of a circle would have been acceptable. The letters L and W
were assumed to refer to length and width as the previous part of the answer stated that these
were measured. However, unless recognised Sl abbreviations are used, it is better for these to be
written in full, or the abbreviation linked to the word at some point in the answer. The description
of how to obtain the ratio of mean leaf surface area: leaf mass, stated only that the figures for
mass and surface area should be used, but not how they would be used. Answers to this type of
question should show how the mathematical processes would be carried out, in this case dividing
the surface area by the mass.

Other features of the procedure, such as calculating standard deviation (s) or standard error (S, )
and safety could also have been included.
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Example candidate response — grade E
(a) (i) Staletha ndepandent variable baing investigated.

(i) Outline the procedures the student could use to obtain these results,
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Examiner comment — grade E

(a)

(i)

(i)

This answer appears to be a guess or an assumption that the first feature in Table 2.2 is the
independent variable.

The first part of this answer suggests a misunderstanding of the information given. The answer
refers to using different species and also to different plants. The question clearly refers to using
the same plant. This answer illustrates how important it is for candidates to read the question and
to make sure that they understand the information provided. The answer did, however, show the
expected approach, but was limited to a basic statement about the apparatus that would be used
to measure internode length, mass and water loss. Within the answer there were a number of
statements that drifted away from the main idea also suggesting a limited understanding of the
question. For instance, the statement 'from the mass obtained the student will be able to know
which type of leaf lose more water’, does not follow from the previous sentence or relate to the
following reference to using a potometer. The sentences following the reference to a potometer
also drift away from the point of the question. The part of the answer that refers to using a string
to measure the distance around the leaf does not give any indication of what this will be used for.
If it is to calculate leaf surface area, then this is not the usual way, by using the radius of a circle.
In the last paragraph the answer could have gained a mark for maintaining a constant environment
while using a potometer, but the suggested method of using an air conditioner is not acceptable.
The purpose of air conditioners is to remove heat and humidity not to maintain a constant
temperature. The answer also shows confusion about the purpose of a fan, in terms of maintaining
a constant environment it would provide a constant air flow rather than a constant air supply.
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Question 1(b)
The student carried cul Heasts for leaf surface area ; leal mass ratio and for inlermode length.

The leaf surtace area : leaf mass ratio gave the value f= 12.6

Thea formula for ttest is

_ x-zl
rlz 1.-.
m * o
(b) (i} Completatha calculation to find the value of | for the nlemoda langth.
Show your working.
= 5
41
30 %
09

Table 1.2 shows the critical values al p < 0.05 for the Hest,

Table 1.2

degrees of e ' i
18 |20 (21 |22 (23 |24 (25 |28 |27 |28 |29 (30 |40 |80
freedom —i o

critical va]ua!E.ﬂ} 2.09(2.08 (207 (2.062.06 (2.06 [2.06 |2.05 (2.05|2.04 |2.04 | 2.02 |2.00 | 1.96

The number of degrees of freedom is 58.

(ii} Stata how the numbear of degrees of freedom was calculated.

e [1]
(ill) State and explain the meaning of these results,
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Paper 5 — Planning, Analysis and Evaluation

Example candidate response — grade A

{b) () Complete the calculation to find the value of f for the infernode length.
Show your working.

23 - IS /
7 5"'—
;;;n*a_ﬂ /

t

Tabla 1.2 shows the critical values at p < 0.05 for the HMasl

Table 1.2

dagrees of 27 |28 |20 |30 |40 |e0
i 18 |20 |21 |22 |23 |24 |25 |26 =

critical value|2.10|2.00 [2.08 |2.07 |2.06 | 2.06 |2.06 [2.06 | 2.05|2.05 (2,04 |2.04 (2,02 | 2.00 | 1.96

The number of degreas of freadom is 58,

(i) State how the number of degrees of freedom was calculated.

( =1, +(ﬂr*& ;;:u:...

(lll) State and explain the meaning of 1hm results,
. valvsao].. ... 300 Gt e, W ALl
Ml Jor.. 5 a_.;a%m ............. me 202 aoel.
2409 S Hha. bt
ﬂ.uﬂ{r,{mﬁ'lifﬂﬁu

1 |

[}

A Legaas
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Examiner comment — grade A

(b)

(i)

(i)

(iii)

This answer is completely correct, with an appropriate rounding up of the recurrent figure of the
final answer.

This answer is an excellent example of how to calculate the number of degrees of freedom as all
the steps in the sequence are clearly shown.

This is also an excellent example of how to explain the meaning of a statistical test. There is a
clear statement about the values of tin relation to the critical value, and also indicated where this
value would lie in Table 1.2. The answer then explained why the values are significant. This answer
is particularly good as it is clear that both the value of t given in the question, and that which has
been calculated, have been considered.
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Example candidate response — grade C

{(b) () Complete the calculation to find the value of f for the internade length.
Show your working.

E.”'.f

T i, WS @ | %

Table 1.2 shows the critical values at p < 0.05 for the Hest.

Table 1.2

degrees of . - 40 |eo |m
bcadt 18 |20 |21 |22 |23 |24 |25 |26 |27 |28 |29 |30

I
critical valua|{2.10|2.09 |2.08 |2.07 |E{E 2.06(2.06|2.06|2.05(2.05|2.04 |2.04 (2,02 E-I}DIL'E'E

The number of degrees of freedom is 58.

(i) State how the number of degrees of freedom was calculated.
Qn?'?ﬂﬂﬂhﬁ#q/ o |
....... AL "am'nf%#@m '-
(i) State and explain the meaning of thése results,
o ShOS...

Examiner comment — grade C

(b) (i) This answer is completely correct.

(i) This answer is correct and illustrates the minimum that would be needed to gain the mark. The
formula, 2n-2, would be insufficient if there was no explanation of 'n’".

(iii) This is an answer to a different question, which is why a t-test was used for this data. It illustrates

the importance of reading the question being asked.
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Example candidate response — grade E

(b)) (i) GﬂnmlﬂlﬂﬂmcahmﬂmlnﬂldmamﬂnlIhrlh&irltﬂrmdalangtlh.
Show your working.
I= 55 = H:{
4
= 4
_|___.._f.|. = ﬂlcT 0
o 2
BrxX_08Y _ -
3 3 0.9
ptrz 2483 |
L= T3 35 L6 - Ak

Table 1.2 shows the critical values at p < 0.05 for the Maest.
Table 1.2

. = .I

degrees of | o3 |24 |25 |26 |27 |28 |29 |30 |40 |60 |=
ireecom |8 |20 |2 22 0 40 ﬁ

critical value 2.10]2.09 2,08 |2.07 |2.06|2.06 [2.06 | 2.06 E.DEH.E.UE 204 1204 2,02 E.IIII]LQ-E

The number of degrees of freedom is 58.

(i) State how the number of degrees of freedom was calculated.

..... M#H@Maf%ﬂ:%*; W W §

(i) State and explain the meaning of these resulls.

The.cnfical. value. . is.. 2

e o << A N Y ——
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158

Examiner comment — grade E

(b)

(i)

(i)

(i)

This answer suggests a number of misunderstandings of the question or a limited understanding
of how to carry out a t-test. The data written in the first line of the formula is not comparing

the means of internode length. The figure of 55 is for shaded leaves, mean surface area: mass
ratio and the figure of 23 is for shaded leaves, mean internode length. The value in the second

line of the formula, based on the additional working, appears to have been obtained by using a
simultaneous equation. Table 1.1 shows the standard deviation for each of the data sets. The mark
achieved is an allowed mark for correctly using the figure obtained from their incorrect use of the
formula. In many cases, ‘error carried forward’ marks are given for showing the correct method of
processing the data, so that a single error does not result in the loss of all of the marks.

This answer also shows an uncertain knowledge of statistics. The answer is almost correct, but
the use of symbol for ‘mean’ number rather than the actual number meant that the mark could not
be given.

Although the answer refers to a correct position for the critical value in Table 1.2, there is not
enough explanation about how this was used to decide if the value of t was significant. The latter
part of the answer was a contradiction. The answer suggests a misunderstanding of the meaning
of ‘null” hypothesis.
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Question 1(c)
In a further investigation, the student cut sections of the leaves from the shaded side and
from the exposed side of the plant. The following procedures were carried out:

Transverse sections ware made of each leaf and high-power drawings were made from
thesa sactions. The relative thickness of both the leaf and the cuticle wera measured using
an eyepiece graticule and the difference in the distribution of chloroplasts was observed.

Fig. 1.3 shows drawings made from transverse sactions of these leaves.

l2af from exposed side of plant

Fig. 1.3
(e) () Explain how the actual thickness of the leaf could be measured.

2]
{ii) With reference to the student’s results, state what conclusions can be drawn about

the differencas in adaptations shown by shaded leaves and exposed leaves of the
plant,

|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

N
[Total- 20]

PAST PAPERS
INSIDE

Cambridge International AS and A Level Biology 9700 159



Paper 5 — Planning, Analysis and Evaluation

[£] {S80| JBJEM SEINPE) BBJIE BIBUNS JB(BWS g
580
jajem aonpal saoeds JIe Jagews | 520 payoed Apsusp ¢
‘paeinies b s epesijed | ssjenausd
Wby 2 se pAydossw ABucds u sisejdoiojyo Jems, ¢
JYBN Wnwxew qiosqe
0} sjsedoIo|y2 Bsow uEued (s|eo epesied Buo) [ efue)) -z
EEO| JBJEM SHILUI B|20ND JEY0IYl (L
‘saaea| pasodxa [ uns 10} 4O
Aupgeyese Wby ssey yim sisayuisoioyd asow
BIBLWIOS O saouasaial Aue asoulb sgjqeus | b peynw| qrosge o) eaue aseuns sebue] g
sapowel) o) ssousuaies Aue alouf uo|sny)p seb
Ypmoub o) pajes Buigiue aioub lapaq 10} seoeds ne Jabiy | payoed Apsusp 558) 5|83
‘uondiosqe jyby
BSERIOU O} sisejdouoys suow sey pAydosew ABuods g
"0y Bussjed aue Asy) jes) jo ad) yoiym e §i exew “(jee jo sped Jsuu o)) vonensusd
PNoOYs s8jEpIpUED "aoim) yew awes ay) ealb o) jou asea Wby sesealow 5|20 apes|ed Jeyoys | jeajJauuiyl 7
SYE] NG SSAED| SPEYS PUE UNS JO| YIJEW PUE X|W Mo uopensusd by sesesiou SPaND Jeuuy] L
-SanED| apeys Joy Y3HLI3
4O g
'SSOf JAJEM BSILUILIL O] SUDE)OEDE BABY L'} 8{qe] Ut Bjep
SSABS] UNS PUR sisayudsojoyd ssiLUXeLY Jey) suoieidepe | sy) siBlsal JEL] SJEMEUR JO) SYBW Mole jou of siued ey
aABY SaARa| apays ey Buipuelsiapun ay) Joj Yoo | Ag UMoys suole)depe aiy Jnoge sucismouco Jof ame syepy | ()
Fd Jeeuoniw abes

anjes yun ajnogeld piepuels e 0) "jad | suondudsap moje

2 yum yun soardade ue jo anjea auy) Buipuy jo eapi o) ‘el

yspun epnonest eseid ade jo Jegquunu eyl Buguncd Of ‘18l

n (=)

PAST PAPERS

INSIDE

awayos e\

Cambridge International AS and A Level Biology 9700

160



Paper 5 — Planning, Analysis and Evaluation

Example candidate response — grade A

(e) (i) Explain how the actual thickness of the leaf could be measured.

The. shiadeck...co) have. . cliera . Sage...
mtt:m'e-i'a' mnﬁ Eﬂg@ ..... tﬂ}&&l k. e,
5F S e

mﬁmur?%ﬁ‘ LA
:':EJ'UE.I"{ i clen ess, then .:m.:&r-" Phe cmanpﬂn&# .
(ify With rElfﬂl'En-::E to the student’s results, state what conclusions can be drawn a

the differences in adaptam:rns shnwn by shaded leaves and exposad leaves of the

plant.

Thm Ex. ey, a@' & e gan. ros \saves.

..... o) Ak calisade. cedle, ...
...... Eﬁag::!; " 2 echeizals mesowm.. ighk...;
..... rp"l"hm Jo.qodd.. uclua....ifhﬂsgr%j |
Hn:: expened. \eaf..as.a. Jideec...cuhde and

...... -E?:.‘EE- .ah':mu.}q R S A S o

= 'rl'ﬁ gme} -
Atk o e%:ﬁh?é coabedde un, T2
andl. l"'l.l.&h?llnﬂ an
5\115& Ly :‘rq,mei-er-

Examiner comment — grade A

(c) (i) This answer shows an understanding of both of the key ideas for this question. The idea of
counting the number of eyepiece units was not well expressed and there was some confusion
about how the calibration should be used to find an actual value. However, it was clear that the
principles of measuring actual size using a microscope was known.

(ii) The answer addressed the question, but in parts lacked sufficient detail to gain more marks.
For instance, the reference to elongated palisade cells in the leaves of the exposed side of the
plant was correct, but also needed to link this to the number of chloroplasts as well as to light
absorption. The answer also made a correct connection about the thickness of the cuticle and
transpiration for the exposed leaves. The answer, however, lacked any conclusions related to the
shaded leaves. A better answer would have drawn conclusions about both types of leaf.
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Example candidate response — grade C

{e) (I} Explain how the actual thickness of the leaf could be measured.
4. fﬁﬁ?’ﬁ@&_-_“
Aﬁk f celclioaition, | |

(i} With reference to the student’s results, state what conclusions can be drawn about
the differences in adaptations shown by shaded |leaves and exposed |Ea".|'E*E of the

plant, fa Hay fgdﬂl_,; e eedly
ﬁu Ay ded fraes | JE-:M oplats n dinee... Yo, o

b...aunliafit jﬂ:‘lm ?{F' &E(ﬁﬁ{-ug gubeke M
: m %J\jﬁv Yodeq Yoves vy s f{i{{l

,daw'f qm_._@vﬁ..;@.. ﬁ-f-!;éﬁ"{"ﬁi.y duatige of Bl Mﬁa{ t’.l

b, kel Jﬁ“ -,E"\R*ﬂd'mfﬁum Lﬂfﬁu m bl Céﬂ*

[r-.-'-iu..b'u i.u.w{—ﬂr’l £ L
EU-G?M#M @ !&W&ajﬁf Ahaded ¥4

(e olew (bd Mook ﬂ hzf-r:q Ll ﬂ:;'.u.-"-r
{,&rﬁuh.l-u_.'-fJ Pm e Abhadsd Mjﬁﬂafya
mi{ﬂ -f-i.w ﬁlﬁ&igﬂ Rk LAy ﬂdh&f—fb"’m{m AL e -l"--';'-'lﬂ'l-\-m--i

CErub 8-

Examiner comment — grade C

(c) (i) Although this answer makes an acceptable reference to calibration, it was not well explained.
A better answer would have described counting the number of eyepiece units matching a slide
micrometer unit. The rest of the answer only states ‘the thickness can be found’, it did not give
any indication of how this could be achieved.

(ii) The answer showed an understanding of the requirements of the question, but the connections
between the adaptations and environmental factors were often incorrect. The emphasis was
on the adaptations of shade leaves and showed an understanding that a large surface area
would optimise the absorption of the limited light. The other parts of the answers were rather
muddled. For instance, the answer correctly stated that the shaded leaves had fewer chloroplasts
in the palisade, but did not relate this to the overall distribution of the chloroplasts. This part of
the answer also made a partial link to ‘not enough sunlight’ but implied that there were fewer
chloroplasts because there is less light, which is not a valid conclusion if the spongy mesophyll
is taken into account. Later in the answer, the number of chloroplasts in the spongy mesophyll
was mentioned but in the incorrect context of water availability. The answer also made a correct
statement about the thickness of the shaded leaves, but again made an inappropriate connection
to the concentration of gases inside the leaf, rather than the light penetration.
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Example candidate response — grade E

(e} () Explain how the actual thickness of the leaf could be measured.

AN vkl Soapn l‘;..l.ﬁ.lna- T Y be woud.
(il) With referance to the student’s results, state what conclusions can be drawn about

the differences in adaptations shown by shaded leaves and sxposed leavas of the
plant.

mgwtﬁn%mmn ..............
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[Total: 20] |

Examiner comment — grade E
(c) (i)

This answer illustrates the importance of reading the information given, which quite clearly stated
that an eyepiece graticule was used for the measurements of sections cut from of leaves. The
answer described using a micrometer screw gauge and whole leaves.

(ii) The answer started as expected by linking the larger surface area of shade leaves to light
absorption. Although it was not well expressed, the implication seemed to be that the light
availability was limited, so a mark was awarded. The rest of this answer was a description of the
observable differences in structure between the two types of leaf, suggesting some uncertainty

about either the expectation of the question, or the reasons for the adaptations of the two types of
leaf.
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Question 2(a)

2 Fig. 2.1 shows a freshwaler crusiacean. This animal has a iwo-chambered heart that can be
sean through the exoskelaton.

Fig. 2.1

An investigalion into the effect of lemparature on hearl rate was caried oul wsing this
organism to test the hypothesis:

Heart rate doubles for every 10°C increase in temperature.
Five crustaceans, each measuring S5mm in length, were placed in water of different

temperaiures and lefi for fase minutes. The heart beat was countad for 20 seconds using a
fally countar and stop watch, Tabla 2.1 shows the resulls of the nvestigalion,

Table 2.1
heart rate / beats per minute
temperatura { “C
5 10 15 20 25 30 a5
spacimean 1 30 45 63 96 132 165 a4
spacimean 2 a3 51 69 105 150 LIl | ar
spaciman 3 33 48 66 93 130 174 G5
specimen 4 45 57 a7 11 168 183 78
spaciman 5 24 6 51 78 120 135 75

(a) (I} Identify two variables that have bean controlled during this investigation.
| T T R B e e R R i T e e P T e

{ii} Suggest one other variable that should be controlled.
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(i) Suggest one feature of the procedure which may cause the results to be
inaccurate.

(iv) Suggest a reason why the student used five specimens at each temperature.

(1]
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General comment

Two of the examples, both borderline grade C, reflect the pattern of ‘better’ answers to this question.
There is also an example of an answer that did not gain any marks, but showed some of the range of
misconceptions that occurred in this question.

Example candidate response — grade C

(a) (i} Identify two variables that have been controlled during this investigation. !EH::'W
1%&&1&:’:%}:?% ______ weikcsans: Y |
o Toe... Yime. Be...hide. e ek Nosdl o | &

Wes  cound gy . |
(il) Sugges! one other variableThat should be controfled. !

e L Qp ...... ;’ﬁﬂ ... 05 Lﬁﬂcﬁﬂﬂh&ﬁ.&é/ | \

(ili) Suggest one feature of the procedure which may cause the results to be :
imaccurats.

he woader. might.nd-. have... beeo... pucdy.....

(iv) Suggest a reason why the student used five specimens at each temperature.

Yec.a r.':‘r:'m;?.r:!E‘.sj,im...m......-m?ﬂfm..uﬂ‘.‘.l.tﬁ---.mn_ .
------ be.. dodhia)...a0d..exdudeds oo | ©

Examiner comment — grade C

(a) (i) This answer gained both marks as the controlled variables have been described clearly. Often
answers stated ‘size of the crustacean’ which is not acceptable. Other answer stated ‘time’
without any further expansion, which is also not acceptable.

(if) The answer was also clearly stated.

(iii) This answer did not really address the question and appeared to be a guess. As the heart rate was
the dependent variable, then factors that might cause a change in the heart rate of the crustacean,
or the technique used for counting should have been considered.

(iv) This illustrates the common error for this part of the question. The term used was accuracy, but
the explanation was about reliability.
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Example candidate response — grade C
(a) (i) Identify iwo variables that have been controlled during this investigation.

g TP o ¥ i 1+ 1
2 length  of it crustaceans. /[ st

() Suggest one other variable that should ba contralled.
velumo Hoder .
-u--:f--l?E-u r UFHHlll +lﬁwn [ " ‘H;I .-.Eh-ﬂﬂrhfi;uu

EERFEEEFEREFEBB Rl GRdEARRaaRaR4E TEEEEE i O8I B

or | eah  cruttocan  sheuld e equal.

LLLEL]

(li) Suggest one feature of the procedure which may cause the results to be

inaccurate.

e B dusoled | Owygen  in A Herfte | thay

e mmaount | of o mm”f‘"ﬂm‘ﬂ?ﬂﬂﬁ‘{] ‘
(iv) Eug;llasl a reason why the student used five specimens at each temperature.

N RO I R o PO R0 D

BB BTl Lot ssisssssssmsssssssens| 1]

Examiner comment — grade C

(a) (i) There was some confusion between the controlled variables and the independent variable. It was
possible that the answer of ‘temperature’ was intended to be about keeping each of the individual
temperatures used constant during the time of measuring. However, as temperature was the
independent variable of the investigation, it could not be credited. It may well be true that the
value of the independent variable had to be kept constant at each of the tested points, but this
should not be given as an answer about controlled or standardised variables.

(if) This was a clearly stated answer.
(iii) This was also a clearly stated answer.
(iv) The answer showed a common misunderstanding. The number of replicates is a means of

improving reliability. Accuracy is more commonly improved by using a better way of measuring the
dependent variable.
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Example candidate response — grade E

(a)} (i)

(i)

(i)

(iv)

Identify two variables that have been controlled during this investigation.

1. 1 FW{];EE‘.IML RPN

Suggest pne other varlable that should be controlled.

laat. A boart beat... -

Suggest one feature of the procedure which may cause the results 1o be
inaccurate.

.......... fhsence. a&.....ztﬂ{:al.l.méﬁ eyl

Suggest a reason why the student used five specimens at each temperature.

o twow. lfdi

Examiner comment — grade E

(a) (i)

(i)
(iii)

(iv)

Examiners

Temperature was the independent variable and the number of crustaceans used was a means of

improving reliability.

This was a variable that was controlled.

This answer suggests a misunderstanding of the experimental procedure in which the five

crustaceans were the replicates.

This further supports the view that reliability, accuracy and the role of replicates was not
understood.
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Question 2(b) and (c)

The student calculated the percentage change in heart rate for each specimen.
Table 2.2 shows these results,

Table 2.2

percentage change in heart rate

temperature / “C

=10 | 1015 | 1520 | 2025 | 2530 | 30235
specimen | 50 | 40 | 52 | 38 | 25 | -49

spacimen 2 55 a5 52 42 14 -49
specimen 3 45 38 40 39 34 -60
specimen 4 27 52 28 5 g -57

specimen 5 50 41 53 54 12 -44

(k) (i) Suggest why the student converted the raw data to percentage change.

1]
(i) Describe how the percentage change betwean 25°C and 30"C was calculated.
~[1]
(iil) Predict the effect on the heart rate of an increase in lemperature 1o 40°C,
1]
() Assess how far the resulls of the investigation support the hypothesis.
...................................................................................................................................... [2]
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Example candidate response — grade A
(b) (i) Suggestwhy the student converted the raw data to percentage change.

(i) Describe how the percentage change between 25°C and 30°C was calculated.

Cabedate dippeence. s heaet -ﬂffH"Tf C pof 30% gindl
dhiiole valae by f;:mf: f=“'§5 wt 25 ""“’f ”'é‘%«,éz,éﬂﬁﬁu]
(iiiy Predict the effect on the heart rate of an increase in temperature to 40°C.

Heard . rate pruli decicaoto unhl. i) cexchso 360,
fﬁ&":éfﬂﬁf«ﬂéfﬁrw‘f_ffﬂ*ﬂjﬁémﬁfoSzvpf:ﬂ"%?jh ..... 1]

(c) Assess how far the results of the investigation support the hypothesis.

H;ﬁ reeke a,qf.d /mﬁm hepncen 5-25 wn.nf A5 c ﬁmﬁu

.......................

i D s, lasnscss ,&,7/,;,@ ol e b sne i £

[Total: 10]

Examiner comment — grade A

@/\'}L”

This was an excellent answer to both parts (b) and (¢) of the question. Each answer was clearly explained. Part
(c) was particularly well answered as the temperatures quoted were correct and both aspects of support for the

hypothesis were addressed.
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Example candidate response — grade C

(b) (i) Suggestwhy the student converted the raw data to pnrcantag:& change. |

n ade tp -M:.g,.i.d-

(i) Predict the effect on the heart rate of an increase indemperature to 40°C. -

&m*.hhwﬂ’-lﬂl.f? 'ﬂm l,'f-h[:. AL &, ______

(c) Assess how far the results,of the tigation support the hypothesis.

] I[h
[Total: 10] é.‘

Examiner comment — grade C

(b) (i) This answer illustrates a common misconception that percentage change is a way of testing a
hypothesis.

(ii) lllustrates a way of answering this question by using a formula and data from Table 2.1.
(iii) Was correct.
(c) This illustrates different features of some weaker answers. The question was an evaluation of

results, so the answer should include a reference to both support and lack of support for the
hypothesis.
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Example candidate response — grade E

(b) (i) Suggestwhy the student converted the raw data to parcentage change.

.k 3h. mﬂrﬁmﬁw tosull_ad . Yoo b B eiteo

(i) Describe how the percentage change between 25°C and 30°C was calculated.

M 50 A ISC. 5 bkl o W a0, o S .
q. St . ;... 162 e T nloo s RSk it ]

{ili) Predict the effect on the heart rate of an increase in temperature to 40 °C.

|

o

{c) Assess how far the raEI-ults of the investigation support the hypothasis.

T sosil. A Ao vl o o b g, opelde .|

Fo.pom 3., . E@ﬁ* e, b 55 b e b re b o) O
R ot 10}

Examiner comment — grade E

(b) (i) and (ii) were well answered.

(iif) There was a contradiction in this answer. The first sentence about the heart rate decreasing is
correct, although the explanation was not required. However, the second sentence was a direct
contradiction and is not supported by the data in the question, so a mark could not be allowed.

(c) This answer illustrates the common theme of poorer answers. There is a general understanding
of the expected answer, but the data quoted is far too vague. For instance, ‘up to a certain
temperature’ is meaningless; the actual temperature should be quoted. The figures quoted for
specimen 3 are from Table 2.1, but were related to time rather than temperature. The reference to
time may have been a ‘slip of the pen’, but there was insufficient evidence in the rest of the answer
to give any 'benefit of doubt’. The statement ‘after 35°C, the rate decreases’ was incorrect as
above 30°C the heart rate was decreasing.
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